Fi{ BEARINGS

Precision Kod Ends & Spherical Bearings 4

c “g
4



http://www.carid.com/fk-rod-ends/

@K. Bearings came onto the scene quietly over 30 years ago. They did not make a huge splash, but quickly
won the customers over with fair pricing and plenty of inventory. While the industrial market struggled to
get product from the old stand-bys, the racing market embraced a supplier that would maintain inventory
throughout the limited season. To further assure timely delivery and customer's needs, F.K. Bearing has
two regional warehouses. Filled to the brim with inventory, these warehouses can offer localized service for
emergency orders.

Over the years the F.K. Bearing product line has grown to encompass many different industries. From the
wilds of Baja Mexico, to the "good old boys" of NASCAR.... from mowers to care for your lawn, to fitness
equipment to groom your body, you'll find F.K. products!

In your hands is our latest offering in an evolving program designed to supply rod end products to users
everywhere! You will find rod ends and spherical bearings made from mild steel, chromemoly/alloy steel,
aluminum and stainless steel. Special care is taken during every step of the manufacturing process to insure
you the highest quality products.

With approximately 10,000 combinations of rod ends and spherical bearings available, you will appreciate
the effort that goes into filling each order. Within our state-of-the-art facility, we carefully craft our products,
so we are able to say, "Yes, it's in stock" when you call.

CUSTOMER SERVICE

All F.K. Bearings' sales personnel have extensive product training to assist you in the selection of the proper
bearing for your application. District sales representatives for F.K. work very closely with inside sales and
engineering, to ensure excellent service and on time delivery.

ISO 9001:2008 Registered

In 2010 F.K. Bearings was honored with a ISO 9001:2008 compliance. In today’s competitive business
environment, effective management systems are indispensable. You can be confident that you are doing
business with an organization that can deliver goods and services in a timely manner and that your needs will
be met. The ISO 9001:2008 registration ensures that F.K. Bearings does indeed have the systems and infra-
structure in place to conduct business effectively. We can deliver what we promise.

Thank you for your interest in F.K. Bearings! A\




TABLE OF CONTENTS

COMMERCIAL INDUSTRIAL ROD ENDS

CM/CF 2-piece, metal to metal 3
ECM/ECF 2-piece, Import, metal to metal 4
SCM-T / SCF-T 2-piece, stainless steel with PTFE liner 5
CMX / CFX 2-piece, metal to metal, heat treated, alloy steel 6

PRECISION SERIES ROD ENDS

NJM / NJF 3-piece, plastic race 7
M-SB / F-SB 3-piece, sintered bronze race 8
JM / JML 3-piece, male, alloy steel race 9
JF / JFL 3-piece, female, alloy steel race 10
JMX/ JMXL 3-piece, male, high strength alloy 11
JEX [ JEXL 3-piece, female, high strength alloy 12
RJM/RJF 3-piece. precison, decorative chrome plated 13
RIMX-T / RIMXL-T 3-piece, male, high strength alloy, chrome or bright nickel plated with PTFE liner 14
KMX / KMXL 3-piece, male, high strength alloy steel with injected nylon race 15
SIM-T / SRSM-T / SJF-T 3-piece, stainless steel-wear resistant with PTFE liner 16
HIMX-T / HRSMX-T / HIN-T High misalignment - rod ends and spherical bearings with PTFE liner 17
PMX-T / PMXL-T 3-piece, male, performance racing, stainless steel insert with PTFE liner 18
ALJM / ALIM-H / ALJF 3-piece, aluminum body 19
EXTRA-STRENGTH HEAVY DUTY SHANK

ALRSM / ALRSML 3-piece, aluminum body 20
RSM / RSMX 3-piece, low carbon steel and alloy steel versions 21
EMX 3-piece, alloy steel 22
METRIC SERIES ROD ENDS

CM-M / CF-M 2-piece, metric, metal to metal 23
SCM-MT / SCF-MT 2-piece, metric, stainless steel with PTFE liner 24
JM-M / JML-M 3-piece, metric, male, alloy steel race 25
JF-M / JFL-M 3-piece, metric, female, alloy steel race 26
JMX-M / JMXL-M 3-piece, metric, male, high strength alloy 27

JFX-M / JFXL-M
SPHERICAL BEARINGS

3-piece, metric, female, high strength alloy

COM /COMH Inch - commecial series, low carbon steel 29
COM-M Metric - commecial series, low carbon steel 30
FKS / FKS-T Precision narrow series, alloy steel, heat treated 31
FKSSX-T / FKSSX-TV / PFKSSX-T Precision narrow series, stainless steel with PTFE liner 32
WSSX-T / WSSX-TV Precision wide series, stainless steel with PTFE liner 33
IN-P Plastic race series 34
GEZ-ES Inch - fractured race series &5
GE-ES Metric - fractured race series 36
AIN Heavy duty precision series, alloy steel 37
CP Bearing cups 37
SPECIAL PRODUCTS

SPECIAL SIZES 2-piece, metal to metal, special bore sizes 38
B Ball joints 38
RD Solid rod ends 39
Ccv Clevis’ 39
HB High misalignment bushings 40
ADJUSTER LADDER 3/4” right to left hand turnbuckle 40
AINR / AJNL Jam nuts - inch, aluminum 41
SJINR / SUNL Jam nuts - inch, steel 41
SJINR-M / SINL-M Jam nuts - metric, steel 41
CTR Center finders for rod end adjustment lengths 41
RERS /WS Rod end seals and boots to keep out the elements 42
WELDABLE TUBE ENDS Threaded tube ends for rod end bearings 43
ADDITIONAL INFORMATION

STUDS Data for studded rod ends 22
ENGINEERING INFORMATION Helpful information for choosing the correct product for your needs 44-45

INTERCHANGE TABLE Convienent part interchange of many popular brands 46



CM/CF

2-PIECE, METAL TO METAL / PTFE LINERS AVAILABLE

o W BALL
i \“‘“ ,,,,,,,,,

52100 STEEL
Rc 56 MIN
> HARD CHROME PLATED

e, BODY

3 LOW CARBON STEEL

e

A T e ZINC PLATED
CHROMATE TREATED
T L J\ LINER (OPTIONAL)
J—l; N PTFE FABRIC

MEESEORISIDE T  BALL . ULT. STATIC
RIGHT LEFT DIA DIA WIDTH WIDTH DIA RADIAL LOAD APPROX.
HAND  HAND WEIGHT
PART PART UNF METALTO | PTFE (Ibs.)
NO. NO. : - 3a : METAL LINED
CM3* cML3* | .1900 | .625 | .312 .234 437 | 1.250 | 10-32 | .750 20 1,210 902 .03
CM4* cML4* | .2500 | .750 | .375 .250 .500 | 1.562 | 1/4-28 | 1.000 27 2,225 1,809 .04
CM5* cML5* | .3125 | .875 | .437 .312 .625 | 1.875 | 5116-24 | 1.250 22 3,600 2,984 .07
= CM6 cML6 | .3750 | 1.000 | .500 .359 .719 | 1.938 | 3/18-24 | 1.250 22 5,100 4,244 A1
i cm7 CML7 | .4375 |1.125| .562 .406 812 | 2125 | 7116-20 | 1.375 21 6,402 5,312 A5
§ cMm8 cML8 | .5000 |1.312| .625 453 .937 | 2.438 | 1/2-20 | 1.500 20 8,386 7,211 24
': cMm10 | cmL1o | .6250 | 1.500 | .750 484 | 1125 | 2.625 | 5/8-18 | 1.625 26 9,813 8,403 .36
SRR om12 | cmu1z | 7500 [1.750 | 875 593 | 1.312 | 2.875 | 3/4-16 | 1.750 24 14,290 12,321 57
w .
O = w BALL
— Lu"
5] 52100 STEEL
E '&J Rc 56 MIN
(@ Iy HARD CHROME PLATED

BODY

-
‘ / LOW CARBON STEEL
A -
\\ LUBRICATION ZlNC PLATED
" [ CHROMATE TREATED

LINER (OPTIONAL)

PTFE FABRIC
FEMALE ROD

ENDS B D BALL A N c 3 F N?IS ULT. STATIC

APPROX.
RIGHT LEFT DIA DIA WIDTH WIDTH DIA LGTH THD LGTH DIA. FLAT ANGLE RADIAL LOAD WEIGHT

HAND HAND

+.0025 | +.010 | +.005 REE. REE. +.015 UNF | +.062 | +.010 | +.010 REF. METALTO | PTFE (lbs.)

-.0005 | -.010 | -.005 -.015 3a -.031 | -.010 | -.010 METAL LINED
CF3* | CFL3* | .1900 | .625 312 .234 437 | 1.062 | 10-32 | .500 | .406 | .312 20 2,100 1,637 .04
CF4-3 N/A .2500 | .750 .375 .250 .500 | 1.312 | 10-32 | .687 | .468 | .375 27 3,250 - .05
CF4* | CFL4* | .2500 | .750 .375 .250 .500 | 1.312 | 1/4-28 | .687 | .468 | .375 27 3,250 2,612 .05
CF5* | CFL5* | .3125 | .875 437 312 .625 | 1.375 | 5/16-24 | .687 | .500 | .437 22 3,934 3,110 .08
CF6 CFL6 | .3750 [ 1.000 (| .500 .359 719 | 1.625 | 3/8-24 | .812 | .687 | .562 22 5,100 4,206 A3
CF7 CFL7 | .4375 [1.125| .562 .406 .812 | 1.812 | 7/16-20 | .937 | .750 | .625 21 6,420 5,384 .18
CF8 CFL8 | .5000 [ 1.312| .625 .453 937 | 2125 | 1/2-20 [ 1.062 | .875 | .750 20 9,100 7,826 .29
CF10 | CFL10 | .6250 | 1.500 | .750 .484 | 1.125| 2.500 | 5/8-18 [ 1.375 | 1.000 | .875 26 9,800 8,343 .43
CF12 | CFL12 | .7500 | 1.750 | .875 593 | 1.312 | 2.875 | 3/4-16 | 1.562 | 1.125 | 1.000 24 14,250 12,342 .65

NOTES: * GREASE FITTINGS ARE NOT SUPPLIED ON THESE SIZES.

MALE ROD END LOAD RATINGS BASED ON NO LUBRICATING FITTING.

FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. EXAMPLE: CF6Z FOR LOAD RATINGS WITH LUBRICATOR, PLEASE CONTACT THE
FOR STUDS, ADD “Y” TO SUFFIX. EXAMPLE: CM10Y P ENGINERRING DEPARTMENT.
FOR P.T.F.E. LINER, ADD “T” TO SUFFIX. EXAMPLE: CF8T



http://www.carid.com/suspension-systems.html

IMPORT ECM/ ECF

2-PIECE, METAL TO METAL

BALL

52100 STEEL
Rc 56 MIN.
HARD CHROME PLATED

BODY

|, LUBRICATION
FITTING

m
@)
S
m
(@)
T

R
3
m
o}
m
LOW CARBON STEEL (QPTIGNAL) ﬁ
ZINC PLATED J_>|
CHROMATE TREATED =
_|
o
=
m
MALE ROD ENDS 2 o
B D w T e uLT. P
RIGHT LEFT DIA DIA WIDTH WIDTH ANG e STATIC  APPROX.
HAND  HAND RADIAL  WEIGHT
PART  PART LOAD (Ibs.)
NO. NO. -
Ecm3* | EcmL3* | 1900 | .625 | .312 234 | .437 | 1.250 [ 10-32 | .750 20 1,210 .03
Ecma* | EcmLa* | 2500 | 750 | .375 250 | .500 | 1.562 | 1/4-28 | 1.000 [ 27 2,225 .04
ECM5* | ECML5* | .3125 | .875 | .437 312 | 625 | 1.875 | 5116-24 [ 1.250 | 22 3,600 .07
ECM6 | ECML6 | .3750 | 1.000 | .500 359 | .719 [ 1.938 [ 31824 [ 1.250 | 22 5,100 A1
ECM7 | ECML7 | .4375 [1.125| .562 406 | .812 [ 2125 | 71620 [ 1.375 | 21 6,402 A5
Ecms | EcmL8 | .5000 | 1.312| .625 453 | 937 | 2.438 | 1/2-20 [ 1.500 | 20 8,386 24
ECM10 | ECML10| .6250 | 1.500 | .750 484 | 1125 | 2.625 | 51818 | 1.625 | 26 9,813 .36
eEcm12 [ EcmL12| 7500 [1.750 | .875 593 | 1.312 [ 2.875 | 31416 | 1.750 | 24 14,290 57

BALL

52100 STEEL
Rc 56 MIN.
HARD CHROME PLATED

BODY

LOW CARBON STEEL
ZINC PLATED
CHROMATE TREATED

LUBRICATION
FITTING
{OPTIONAL}

FEMALE ROD
ENDS B D w T BALL F S s#ﬂic APPROX
DIA DIA WIDTH WIDTH DIA DIA. FLAT .
RIGHT ~ LEFT RADIAL  WEIGHT
HAND HAND LOAD (Ibs.)
DN b G| +.0025 | +.010 | +.005 +.015 +.010 | +.010 b
REF. | REF. . (Ibs.)
NO. (o) | -.0005 | -.010 | -.005 -.015 3a -.031 | -.010 | -.010
ECF3* | ECFL3* | .1900 | .625 | .312 234 | .437 [1.062| 10-32 | .500 | .406 | .312 20 2,100 .04
ECF4* | ECFL4* | .2500 | .750 | .375 .250 | .500 |1.312 | 1/4-28 | .687 | .468 | .375 27 3,250 .05
ECF5* | ECFL5* | .3125 | .875 | .437 312 | .625 [1.375| 5/16-24 | .687 | .500 | .437 22 3,934 .08
ECF6 | ECFL6 | .3750 | 1.000 | .500 359 | .719 [1.625| 3/8-24 | 812 | .687 | .562 22 5,100 13
ECF7 | ECFL7 | .4375 | 1125 | .562 406 | .812 [1.812 | 716-20 | .937 | .750 | .625 21 6,420 18
ECF8 | ECFL8 | .5000 | 1.312 | .625 453 | 937 [2.125| 1/2-20 [ 1.062 | .875 | .750 20 9,100 .29
ECF10 | ECFL10 | .6250 | 1.500 | .750 484 |1.125|2.500 | 5/8-18 | 1.375| 1.000 | .875 26 9,800 43
ECF12 | ECFL12 | .7500 | 1.750 | .875 593 |1.312|2.875| 3/14-16 | 1.562 | 1.125 | 1.000 | 24 14,250 .65
NOTES: * GREASE FITTINGS ARE NOT SUPPLIED ON THESE SIZES.

FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. EXAMPLE: ECF6Z FOR LOAD RATINGS WITH LUBRICATOR, PLEASE CONTACTTHE |

FK ENGINERRING DEPARTMENT.




SCM-T / SCF-T

2-PIECE, STAINLESS STEEL, PTFE LINED

BALL

440C STAINLESS STEEL
HEAT TREATED

BODY

303 STAINLESS STEEL
PASSIVATED

LINER
PTFE FABRIC

Ol MALEROD ENDS 3
P T BALL N c s uLT.
=1 RIGHT LEFT DIA DIA WIDTH WIDTH DIA THD  LGTH ,yoie STATIC ~ APPROX.
S HanD HAND RADIAL  WEIGHT
il PART PART UNF LOAD (Ibs.)
g NO. NO. . . 3a 3 (le)
M | scmaT | scmLaT 10-32
-
) | SCM4T | SCML4T | 2500 | .750 | .375 .250 .500 | 1.562 | 1/4-28 | 1.000 27 1,370 .04
WY | SCMST | SCMLST | .3125 | .875 | 437 .312 625 | 1.875 | 5116-24 | 1.250 22 2,050 .07
w
LI'. ) | SCM6T | SCML6T | .3750 | 1.000 | 500 .359 .719 | 1.938 | 3/8-24 | 1.250 22 3,040 A1
O g SCM7T | SCML7T | .4375 | 1.125| .562 .406 812 | 2125 | 7116-20 | 1.375 21 3,780 15
7] %] | scmeT | scmL8T | .5000 | 1.312| .625 .453 937 | 2.438 | 1/2-20 | 1.500 20 4,700 .24
M) | SCM10T | SCML10T | .6250 [ 1.500 [ .750 484 | 1125 | 2.625 | 5/8-18 | 1.625 26 5,860 .36
Sy [ SCM12T | sCML12T | .7500 | 1.750 | .875 593 | 1.312 | 2.875 | 3/4-16 | 1.750 24 7,512 .57
w - —
= u D .
ou BALL
NS
N

440C STAINLESS STEEL
HEAT TREATED
BODY
303 STAINLESS STEEL
PASSIVATED

LINER

PTFE FABRIC

FEMALE ROD 2
— oAl ol Pncoeel ol el e Wt (o) Mo (rid sl BSemicl Ve et
N B ANGLE RADIAL WEIGHT
NO. . . . 3a
SCF3T | SCFLST | 1900 | 625 | .312 | .234 | .437 [1.062 | 10-32 | .500 | 406 | 312 | 20 | 930 .04
SCF4T | SCFLaT | 2500 | 750 | .375 | .250 | 500 |1.312 | 1/4-28 | 687 | 468 | 375 | 27 | 1,380 | .05
SCF5T | SCFLST | 3125 | 875 | 487 | .312 | 625 | 1.375 | 511624 | 687 | 500 | 437 | 22 | 2,100 | .08
SCF6T | SCFL6T | .3750 [1.000| .500 | .359 | .719 [1.625 | a/8-24 | 812 | 687 | .562 | 22 | 3080 | .13
SCF7T | SCFL7T | 4375 [1.125] .562 | 406 | 812 | 1.812 | 711620 | 937 | .750 | 625 | 21 | 3,790 | .18
SCF8T | SCFL8T | 5000 [1.312]| .625 | .453 | 937 |2.125| 1/2-20 [1.062| 875 | .750 | 20 | 4,720 | .29
SCF10T | SCFL10T | .6250 [1.500 | .750 | .484 |1.125 | 2.500 | 518 | 1.375 [1.000| 875 | 26 | 5870 | .43
SCF12T | SCFL12T | .7500 [1.750 | .875 | 598 |1.312 | 2.875 | 3416 | 1.562 [1.125|1.000 24 | 7,520 | .65




CMX/ CFX

2-PIECE, METAL TO METAL, HEAT TREATED, ALLOY STEEL / PTFE LINERS AVAILABLE

BALL

52100 STEEL
Rc 56 MIN HARD
CHROME PLATED

BODY

ALLOY STEEL
HEAT TREATED
BLACK OXIDE TREATED

LINER (OPTIONAL)
PTFE FABRIC

MALE ROD ENDS

0

a

B Fss

.

s

B T BALL A ULT. STATIC e
RIGHT LEFT DIA DIA° WIDTH WIDTH DIA RADIAL LOAD WEIGHT.
HAND HAND (Ibs.)
e b G e) | +.0025 | +.010 | +.005 REF. REF. +.015 | UNF METALTO | PTFE
-.0005 | -.010 | -.005 ’ *|-.015 3a METAL LINED
CMX8 CMXL8 .5000 | 1.312| .625 .453 .937 | 2.438 | 1/2-20 | 1.500 20 17,000 | 14,500 .24
CMX10-8 | CMXL10-8 | .5000 | 1.500| .750 484 | 1.125 | 2.625 | 5/8-18 | 1.625 26 18,000* | 15,200 .30
CMX10 CMXL10 .6250 | 1.500 | .750 484 | 1.125| 2.625 | 5/8-18 | 1.625 26 18,000 | 15,200 .36
CMX12-8 | CMXL12-8 | .5000 | 1.750 | .875 .593 | 1.312 | 2.875 | 3/4-16 | 1.750 24 25,000 | 21,400 .57
CMX12-10 [ CMXL12-10 | .6250 | 1.750 | .875 593 | 1.312 | 2.875 | 3/4-16 | 1.750 24 25,000 | 21,400 .57
CMX12 CMXL12 .7500 | 1.750 | .875 .593 | 1.312 | 2.875 | 3/4-16 | 1.750 24 25,000 | 21,400 .57

*MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.

NOTE: FOR PTFE LINER, ADD “T” TO SUFFIX. EXAMPLE: CMX12T

BALL

52100 STEEL
Rc 56 MIN HARD
CHROME PLATED

BODY

ALLOY STEEL
HEAT TREATED
BLACK OXIDE TREATED

LINER (OPTIONAL)
PTFE FABRIC

FEMALE ROD
ENDS B D W

RIGHT
HAND
PART
NO.

LEFT
HAND
S| +.0025 | +.010 | +.005
NO. -.0005 | -.010 | -.005

T

DIA DIA WIDTH WIDTH

REF.

BALL
DIA

REF.

A

+.015
-.015

N
THD

UNF
3a

LUBRICATION
FITTING
{OPTIONALY

C
LGTH

+.062
-.031

METAL TO
METAL

ULT. STATIC
RADIAL LOAD

PTFE
LINED

1331S A0V ‘G31V3IYL LVIH “IVLIW OL TVLIN ‘I03Id-2

APPROX.
WEIGHT
(Ibs.)

CFX8 | CFXL8 | .5000 | 1.312| .625 .453 937 | 2.125 | 1/2-20 | 1.062 | .875 | .750 20 17,000 14,500 .24
CFX10 | CFXL10 | .6250 | 1.500 | .750 .484 | 1.125 | 2.500 | 5/8-18 | 1.375 | 1.000 | .875 26 18,000 15,200 .36
CFX12 | CFXL12 | .7500 | 1.750 | .875 .593 | 1.312 | 2.875 | 3/4-16 | 1.562 | 1.125 | 1.000 24 25,000 21,400 .57

NOTE: FOR PTFE LINER, ADD “T” TO SUFFIX. EXAMPLE: CEX12T




NJM / NJF

3-PIECE, PRECISION - WEAR RESISTENT, PLASTIC RACE ROD ENDS

i = . LOW CARBON LOW CARBON STEEL
B | mounTEn STEEL CHROMATE TREAT-
i < M“‘} CASE HARDENED ED

F ZINC PLATED ZINC PLATED

p PTFE LUBRICATED, FIBER REINFORCED
v ENGINEERING PLASTIC

MALE ROD ENDS

(/2]
(a]
2
w
Q
o)
14
w
3]
<
(14
I2) w T BALL ULT.
~ | RIGHT  LEFT DIA DIA WIDTH WIDTH DIA STATIC  APPROX.
20 HAND  HAND RADIAL  WEIGHT
= PART  PART UNF LOAD (Ibs.)
|_" NO. NO. o . 3a 3 (le)
il [ Nom3 | NomL3 [ 1900 | 625 | 312 250 | .437 [ 1.250 [ 10-32 | .750 13 1,174 .03
-
24 [ NoM4 | NumL4 | 2500 | .750 | .375 .281 .500 | 1.562 | 1/4-28 | 1.000 16 2,168 .04
ﬁ NJM5 | NomLs | 3125 | 875 | .437 344 | 625 | 1.875 | 5116-24 | 1.250 14 2,796 .07
™ | NJM6 [ NJML6 | .3750 |1.000| .500 406 | .719 | 1.938 | 3/18-24 | 1.250 12 4,012 A1
mf | NJM7 | NOML7 | 4375 |1.125| 562 437 | .812 | 2.125 | 716-20 | 1.375 14 4,244 16
g. NJM8 | NJML8 | .5000 |1.312| .625 500 | .937 | 2.438 | 1/2-20 | 1.500 12 6,453 .25
(TIA | Nom10 | NoML10 | 6250 [1.500 [ .750 562 | 1.125 | 2.625 | 5/18-18 | 1.625 16 7,400 .38
28 NJM12 | NJML12 | .7500 [1.750 | .875 687 | 1.312 | 2.875 | 3/14-16 | 1.750 14 10,937 .60
w
x —_— W
\ n-
=
)
= g /> LOW CARBON LOW CARBON STEEL
2 s STEEL CHROMATE TREAT-
CASE HARDENED | ED
A ZINC PLATED ZINC PLATED
L
I P N PTFE LUBRICATED, FIBER REINFORCED
' ENGINEERING PLASTIC

FEMALE ROD
ENDS B D E F ULT. STATIC
RIGHT LErf DA DIA WIDTH WIDTH DIA. FLAT RADIAL C&’;g%
HAND HAND LOAD (Ibs.)
UNF (Ibs.)
3a :
NJF3 | NJFL3 | .1900 | .625 | .312 | .250 | .437 [1.062| 10-32 | .500 | .406 | .312 | 13 1,220 .04
NJF4 | NJFL4 | .2500 | .750 | .375 | .281 | .500 [1.312| 1/4-28 | .687 | .469 | .375 | 16 2,500 .06
NJF5 | NJFL5 | .3125 | .875 | .437 | .344 | .625 [ 1.375|5/16-24 | .687 | .500 | .437 | 14 2,753 .09
NJF6 | NJFL6 | .3750 | 1.000 | .500 | .406 | .719 [ 1.625| 3/18-24 | .812 | .687 | .562 | 12 3,950 A5
NJF7 | NJFL7 | 4375 |1.125| .562 | .437 | .812 [1.812 | 716-20 | .937 | .750 | .625 | 14 4,300 .20
NJF8 | NJFL8 | .5000 |1.312| .625 | .500 | .937 [2.125| 1/2-20 | 1.062 | .875 | .750 | 12 6,453 .33
NJF10 | NJFL10 | .6250 | 1.500 | .750 | .562 | 1.125| 2.500 [ 5/8-18 | 1.375 | 1.000 [ .875 | 16 7,400 .48
NJF12 | NJFL12 | .7500 | 1.750 | .875 | .687 | 1.312 | 2.875 | 3/4-16 | 1.562 | 1.125[ 1.000 | 14 10,937 72




M-SB/ F-SB

3-PIECE, COMMERCIAL, SINTERED BRONZE

52100 STEEL
Rc 56 MIN. HARD
HARD CHROME

PLATED

LOW CARBON STEEL
CHROMATE TREATED
ZINC PLATED I

/.

f
m

— FITTING
(DFTIONAL)

I
' ] % S
\'\ LUBRICATION | 4

7z

SINTERED PHOSPHOR BRONZE
OIL IMPREGNATED

-

N A

@
il
m
o}
U
Q
e}
=
=
m
P
Q
>
b
2
z
-
m
Py
m
o
@
2
o
4
N
m

MALE ROD ENDS m
D w T .
RIGHT LEFT DIA DIA WIDTH WIDTH STATIC  APPROX.
HAND  HAND N
UG +0025 | wot0 | w005 | oo | oo [+015 | UNF T (L)
NO. Nl - 0005 | -.010 | -.005 : | -015| 3a ' '
M3SB | ML3SB | 1900 | .625 | .312 | .250 | .437 | 1.250 | 1032 | .750 | 413 1,174 .03
M4SB | ML4SB | 2500 | .750 | 375 | .281 | .500 | 1.562 | 1/4-28 | 1.000 | 16 2,168 04
M5SB | ML5SB | .3125 | .875 | .437 | .344 | 625 | 1.875 | 51624 | 1.250 | 14 2,796 07
M6SB | ML6SB | .3750 | 1.000| .500 | .406 | .719 | 1.938 | 3/8-24 | 1.250 | 412 4,012 RY)
M7SB | ML7SB | 4375 |1.125| 562 | .437 | .812 | 2125 | 71620 | 1.375 | 14 4,244 16
M8SB | ML8SB | .5000 | 1.312| 625 | .500 | .937 | 2.438 | 17220 | 1.500 | 412 6,700 25
M10SB | ML10SB | .6250 | 1.500| .750 | .562 | 1.125 | 2.625 | 5/8-18 | 1.625 | 16 7,400 38
M12SB | ML12sB | .7500 |1.750 | .875 | .687 | 1.312 | 2.875 | 31416 | 1.750 | 14 11,550 60
NOTE:
FOR GREASE FITTINGS ADD “Z” TO SUFFIX. EXAMPLE: M8SBZ
FOR STUDS ADD “Y” TO SUFFIX. EXAMPLE: M8SBY W e
— T |,._

LR >
52100 STEEL LOW CARBON STEEL _ 8 MoUNTED
Rc 56 MIN. HARD CHROMATE TREATED
HARD CHROME ZINC PLATED A

PLATED

LUBRICATION
FITTING
{OPTIONAL)

SINTERED PHOSPHOR BRONZE
OIL IMPREGNATED

FEMALE ROD

ENDS B D w T BALL ULT.
e T DIA DIA WIDTH WIDTH DIA DIA. FLAT g;gu?_
HAND HAND LOAD
A ooz o v | e [ mer [mme] g -
F3SB | FL3SB | .1900 | .625 | .312 250 | .437 | 1.062 | 10-32 | .500 | .406 | .312 13 1,624 .04
F4sB | FL4SB | .2500 | .750 | .375 .281 500 | 1.312 | 1/4-28 | .687 | .468 | .375 16 2,545 .06
F5SB | FL5SB | .3125 | .875 | .437 344 | 625 | 1.375|5M16-24| .687 | .500 | .437 14 3,200 .09
F6SB | FL6SB | .3750 [1.000| .500 406 | .719 | 1.625 | 3/8-24 | .812 | .687 | .562 12 3,950 A5
F7sB | FL7SB | .4375 [1.125| .562 437 | 812 | 1.812 | 716-20 | 937 | .750 | .625 14 4,300 .20
F8SB | FL8SB | .5000 [1.312| .625 500 | .937 | 2.125 | 1/2-20 [ 1.062 | .875 | .750 12 6,700 .33
F10SB | FL10SB | .6250 [1.500 | .750 562 | 1.125 | 2.500 | 5/8-18 | 1.375 | 1.000 | .875 16 7,400 48
F12SB | FL12SB | .7500 [1.750 [ .875 687 | 1.312 | 2.875 | 3/14-16 | 1.562 | 1.125 | 1.000 14 11,550 72
NOTES:

FOR GREASE FITTINGS ADD “Z” TO SUFFIX. EXAMPLE: F8SBZ
FOR STUDS ADD “Y” TO SUFFIX. EXAMPLE: F8SBY




JM/JML

3-PIECE, PRECISION - WEAR RESISTENT / PTFE LINERS AVAILABLE

o\ e
_I—I H B Ka\ MELUEN\'Q:D
©)_i s
= f LUBRICATION LV o
I R - N Vg
c \
1 \ N (_

MALE ROD ENDS

B D w
% RIGHT LEFT DIA DIA  WIDTH e gzgm?_ u’;g?;
o ';ﬁ:? a2 LOAD  (lbs.)
= o . +.0025 | +.010 | +.005 | .. | o | +015 UNF +.062 ' (Ibs.)
w -.0005 | -.010 | -.005 -.015 3a -.031
5 Jm2 JML2 1250 | .500 | .250 187 | .312 | 937 | 6-32UNC | .562 16 500 .013
ﬁ JM3 JML3 1900 | .625 | .312 250 | .437 | 1.250 | 10-32 .750 13 1,174 .03
g. Jma JML4 2500 | .750 | .375 .281 500 | 1.562 | 1/4-28 | 1.000 16 2,168 .04
Z JM5 JML5 3125 | 875 | .437 344 | 625 | 1.875 | 5116-24 | 1.250 14 2,796 .07
-J % JM6 JML6 .3750 | 1.000 | .500 .406 719 | 1.938 | 31824 | 1.250 12 4,012 A1
E 8 Jm7 JML7 4375 | 1.125 | .562 437 | .812 | 2125 | 716-20 | 1.375 14 4,244 16
- E Jms JML8 5000 | 1.312 | .625 .500 937 | 2.438 | /220 | 1.500 12 6,700 .25
~ w LN JML10 .6250 | 1.500 | .750 562 | 1.125 | 2.625 | 5/8-18 | 1.625 16 7,400 .38
E g JM12 JML12 .7500 | 1.750 | .875 687 | 1.312 | 2.875 | 31416 | 1.750 14 11,550 .60
) i JmM16= | Jmr1e* | 1.0000 | 2.950 | 1.375 | 1.015 | 1.875 | 4.500 | 1-1/4-12 | 2.500 17 43,555 2.736
JM16-1** | JML16-1** | 1.0000 | 2.950 | 1.375 | 1.015 | 1.875 | 4.500 114 2.500 17 43,555 2.464
JM16-2%* | JML16-2** | 1.0000 | 2.950 | 1.375 | 1.015 | 1.875 | 4.500 1-12 2.500 17 43,555 2.464
Jm20= [ JmL20% | 1.250 | 2.950 | 1.250 | 1.015 | 1.875 | 4.500 | 11/4-12 | 2.500 1 43,555 2.736

*MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.

* GREASE FITTINGS & PTFE LINERS NOT AVAILABLE.
** TOLERANCE VARIATION FOR “D” & “A” ARE +/- .020

52100 STEEL LOW CARBON STEEL
NOTES: Rc 56 MIN HARD ZINC PLATED
HARD CHROME PLATED | CHROMATE TREATED

FOR GREASE FITTINGS, ADD “Z” TO SUFFIX.
EXAMPLE: IM6Z

STEEL ALLOY - HEAT TREATED

ZINC PLATED
FOR STUDS, ADD “Y” TO SUFFIX. CHROMATE TREATED

EXAMPLE: JM8Y LINER (OPTIONAL)
FOR PTFE LINER, ADD “T” TO SUFFIX. PTFE FABRIC

EXAMPLE: IM12T




JF/JFL

3-PIECE, PRECISION - WEAR RESISTENT / PTFE LINERS AVAILABLE

R
w]
1

&)

i

\ LUBRIGATION
FITTING
{OPTIONAL)

Aarc/4dr

—— 1)

—{

m

AN3ILSISIY YVIM - NOISIOIYd ‘I03Id-€

FEMALE ROD ENDS
B D w
RIGHT LEFT DIA DIA WIDTH AR STATIC APPROX.
RADIAL WEIGHT
HAND HAND
LOAD (Ibs.)
PART PART
NO NO +.0025 | +.010 | +.005 REF. REE. +.015 UNF +.062 | +.010 | +.010 (lbs.)
: : -.0005 | -.010 | -.005 : * | -.015 3a -.031 -.010 | -.010 .
JF2* JFL2* .1250 .500 .250 187 312 .812 | 6-32UNC | .437 312 .250 16 1,210 .019
JF3 JFL3 .1900 .625 312 .250 437 | 1.062 10-32 .500 .406 312 13 1,624 .04
JF4 JFL4 .2500 .750 .375 .281 .500 | 1.312 1/4-28 .687 .469 .375 16 2,545 .06
JF5 JFL5 .3125 .875 437 .344 .625 | 1.375 5/16-24 .687 .500 437 14 3,200 .09
JF6 JFL6 .3750 | 1.000 .500 .406 719 | 1.625 3/8-24 .812 .687 .562 12 3,950 15
JF7 JFL7 4375 | 1.125 .562 437 .812 | 1.812 7/16-20 .937 .750 .625 14 4,300 .20
JF8 JFL8 .5000 | 1.312 .625 .500 937 | 2125 1/2-20 1.062 | .875 .750 12 6,700 .33
JF10 JFL10 .6250 | 1.500 .750 .562 1.125 | 2.500 5/8-18 1.375 | 1.000 | .875 16 7,400 .48
JF12 JFL12 .7500 | 1.750 .875 .687 1.312 | 2.875 3/4-16 1.562 | 1.125 | 1.000 14 11,550 72
JF16** JFL16** 1.0000 | 2.750 | 1.375 1.000 | 1.875 | 4.125 | 1-1/4-12 | 2125 | 1.625 | 1.500 17 40,893 2125
JF16-1** | JFL16-1** | 1.0000 | 2.750 | 1.375 1.000 | 1.875 | 4.125 1-14 2.125 | 1.625 | 1.500 17 43,555 2.410
JF16-2** | JFL16-2** | 1.0000 | 2.750 | 1.375 1.000 | 1.875 | 4.125 1-12 2.125 | 1.625 | 1.500 17 43,555 2.410
JF20** JFL20 1.250 | 2.750 | 1.250 1.000 | 1.875 | 4.125 | 11/4-12 | 2125 | 1.625 | 1.500 11 40,893 2125

*MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.

* GREASE FITTINGS & PTFE LINERS NOT AVAILABLE.
** TOLERANCE VARIATION FOR “D” & “A” ARE +/- .020

NOTES:

52100 STEEL
Rc 56 MIN HARD
HARD CHROME PLATED | CHROMATE TREATED

LOW CARBON STEEL s
ZINC PLATED FOR GREASE FITTINGS, ADD “Z” TO SUFFIX.

EXAMPLE: JM6Z

FOR STUDS, ADD “Y” TO SUFFIX.
EXAMPLE: JM8Y

STEEL ALLOY - HEAT TREATED
ZINC PLATED

CHROMATE TREATED

FOR PTFE LINER, ADD “T” TO SUFFIX.
LINER (OPTIONAL) EXAMPLE: IM12T
PTFE FABRIC




JMX / JMXL

3-PIECE, PRECISION - HIGH STRENGTH ALLOY / PTFE LINERS AVAILABLE

— == T
* v 7
A >
B K CLEVIS
I | H‘\-». MOUNTED
=] + C_ "\-\_\_k
- j )
\
= LIUBRICATION A
A T NG i /;,)I
| P TIOMAL) ://.f
I
C \ /
1 l N A
3
)
- MALE ROD ENDS
< D w
E RIGHT LEFT DIA  DIA WIDTH WIDTH STATIC
o HAND HAND ngAA"
> D
e +.0025 | +.010 | +.005 +.015 UNF +.062 (Ibs.)
o -.0005 | -.010 | -.005 : “ | -.015 3a -.031 :
[
n JMX3 JMXL3 1900 | .625 | .312 .250 437 | 1.250 | 10-32 .750 13 2,855 .03
% JMX4 JMXL4 .2500 | .750 | .375 .281 .500 | 1.562 | 1/4-28 | 1.000 16 5,262 .04
I JMX5 JMXL5 3125 | .875 | .437 .344 625 | 1.875 | 5116-24 | 1.250 14 7,640 .07
)
; g JMX6 JMXL6 .3750 | 1.000 [ .500 .406 .719 | 1.938 | 3/8-24 | 1.250 12 9,550 M
E S JMX7 JMXL7 4375 | 1125 | .562 437 .812 | 2125 | 716-20 | 1.375 14 10,290 16
s 9 JMX8 JMXL8 .5000 | 1.312 | .625 .500 937 | 2.438 | 1/2-20 | 1.500 12 16,242 .25
- E JMX8-6 JMXL8-6 3750 | 1.312 | .625 .500 937 | 2.438 | 1/2-20 | 1.500 12 16,242 .25
% h JMX10 JMXL10 6250 | 1.500 | .750 562 | 1.125 | 2.625 | 5/8-18 | 1.625 16 17,959 .38
§ 8 JMX12 JMXL12 .7500 | 1.750 | .875 687 | 1.312 | 2875 | 3/4-16 | 1.750 14 28,090 .60
o JMX14 JMXL14 .8750 | 2.000 | .875 687 | 1.312 | 3375 | 7814 | 1.875 12 55,690 .91
D&
JMX14T-770 | JMXL14T-770 | .8750 | 2.000 | .875 770 | 1.375 | 3.375 | 7/8-14 | 1.875 12 45,051 .91
JMX16%* JMXL16** | 1.0000 | 2.950 | 1.375 | 1.015 | 1.875 | 4.500 | 11/4-12 | 2.500 17 107,182 | 2.736
JMX16-1** | JMXL16-1** | 1.0000 | 2.950 | 1.375 | 1.015 | 1.875 | 4.500 1-14 2.500 17 107,182 | 2.464
JMX20%* JMXL20** 1.250 | 2.950 | 1.250 | 1.015 | 1.875 | 4.500 | 11/4-12 | 2.500 11 107,182 | 2.736

*MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.

** TOLERANCE VARIATION FOR “D” & “A” ARE +/- .020

NOTES:

STEEL ALLOY-HEAT TREATED
ZINC PLATED
HARD CHROME PLATED | CHROMATE TREATED

52100 STEEL
FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. Rc 56 MIN HARD

EXAMPLE: IMX6Z

FOR STUDS, ADD “Y” TO SUFFIX.

STEEL ALLOY - HEAT TREATED
EXAMPLE: IMX8Y ZINC PLATED

CHROMATE TREATED

FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: IMX12T LINER (OPTIONAL)
PTFE FABRIC




JFX I JFXL

3-PIECE, PRECISION - HIGH STRENGTH ALLOY / PTFE LINERS AVAILABLE

\ LUBRICATION
FITTING
{OPTIONAL)

aAXAr /1 X4r

FEMALE ROD ENDS 8
B D w E F ULT.
RIGHT DIA DIA WIDTH DIA. FLAT STATIC
HAND LEFT RADIAL
paRT  HAND PART LOAD
NG NO. +.0025 | +.010 | +.005 +.015 +.062 | +.010 | +.010 (Ibs.)

-.0005 | -.010 | -.005 REF. REF. -.015 -.031 | -.010 | -.010

JFX3 .1900 | .625 312 .250 .437 | 1.062 .562 | .406 | .312 13 3,736 .04
JFX4 JFXL4 .2500 | .750 .375 .281 .500 | 1.312 | 1/4-28 .750 | .469 | .375 16 6,195 .06

JFXL3

A0V HLON3YLS HOIH - NOISIO3Ydd ‘3031d-€

JFX5 JFXL5 .3125 | .875 .437 .344 .625 | 1.375 | 5/16-24 | .750 | .500 | .437 14 7,640 .09
JFX6 JFXL6 .3750 | 1.000 | .500 .406 719 | 1.625 | 3/8-24 .937 | .687 | .562 12 9,550 15
JFX7 JFXL7 4375 | 1.125 | .562 .437 .812 | 1.812 | 7/16-20 | 1.062 | .750 | .625 14 10,290 .20
JFX8 JFXL8 .5000 | 1.312| .625 .500 937 | 2125 | 1/2-20 | 1.187 | .875 | .750 12 15,340 .33
JFX10 JFXL10 .6250 | 1.500 | .750 .562 | 1.125 | 2.500 | 5/8-18 | 1.500 | 1.000 | .875 16 17,959 .48
JFX12 JFXL12 .7500 | 1.750 | .875 .687 | 1.312 | 2.875| 3/4-16 | 1.750 | 1.125 | 1.000 14 28,090 .72
JFX14 JFXL14 .8750 | 2.000 | .875 .770 | 1.375 | 3.375| 7/8-14 | 1.875| 1.300 | 1.125 7 45,051 1.03

JFX16** JFXL16** | 1.0000 | 2.750 | 1.375 1.000 | 1.875 | 4.125 | 1-1/4-12 | 2.125 | 1.625 | 1.500 17 76,205 2125
JFX16-1** | JFXL16-1** | 1.0000 | 2.750 | 1.375 1.000 | 1.875 | 4.125 1-14 2.125 | 1.625 | 1.500 17 76,205 2.410
JFX20** JFXL20 1.250 | 2.750 | 1.250 1.000 | 1.875 | 4.125 | 11/4-12 | 2.125 | 1.625 | 1.500 11 76,205 2125
JFX24-1** | JFXL24-1** | 1.500 | 3.500 | 1.312 1.125 | 2.155 | 56.375 | 11/2-12 | 2.625 | 2.250 | 2.000 6.5 138,800 6.50

*MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.

** TOLERANCE VARIATION FOR “D” & “A” ARE +/- .020

NOTES:

52100 STEEL STEEL ALLOY-HEAT TREATED

Rc 56 MIN HARD ZINC PLATED FOR GREASE FITTINGS, ADD “Z” TO SUFFIX.
HARD CHROME PLATED | CHROMATE TREATED EXAMPLE: IMX6Z

STEEL ALLOY - HEAT TREATED FOR STUDS, ADD “Y” TO SUFFIX.
ZINC PLATED EXAMPLE: IMX8Y
CHROMATE TREATED

LINER (OPTIONAL) g?(ihl:[gi%Lthl\/Ill;(I}’2$DD “T” TO SUFFIX.
PTFE FABRIC '




RJM/RJF

3-PIECE, PRECISION - CHROME PLATED / PTFE LINERS AVAILABLE

52100 STEEL LOW CARBON STEEL
T Rc 56 MIN DECORATIVE
- HARD CHROME PLATED | CHROME PLATED
N P
//fj-\ \1 B Cl.aE;'IE
' L7, + | wounten | STEEL ALLOY - HEAT TREATED

CHROMATE TREATED

T

<1
Ll “*} ZINC PLATED

9

LINER (OPTIONAL)

\ y PTFE FABRIC
' N

=0
|\

MALE ROD ENDS
B ) w T  BALL . AROX
RIGHT LEFT DIA DIA WIDTH WIDTH DIA .
S0l HanD  HAND e
Ef PaRT  part UNF (Ibs.)
<l o NO. o i : I 3a
a
M [ Roma | RumLa | 2500 | 750 | 375 | 281 | 500 [ 1.562 [ 1/4-28 | 1.000 [ 16 2,168 04
Al | Roms | RoMLs | 3125 | 875 | 437 | 344 | 625 | 1875 | 5116-24 | 1250 | 14 2,796 .07
A | RoM6 | RIMLG | 3750 | 1.000 | 500 | 406 | .719 | 1.938 | 3824 | 1.250 | 12 4,012 1
o
ZI NOTES:
L o FOR PTFE LINER, ADD “T” TO SUFFIX.
- 8 EXAMPLE: RIM5T
(a i
£
= & w
ﬂ w I
a T
(0 ey ‘
| >’ 52100 STEEL LOW CARBON STEEL
i ‘|< eLie Rc 56 MIN DECORATIVE
B MOUNTED HARD CHROME PLATED | CHROME PLATED

I —

LINER (OPTIONAL)
PTFE FABRIC

i a9
1 STEEL ALLOY - HEAT TREATED
ZINC PLATED

— N CHROMATE TREATED
-

m

FEMALE ROD ENDS

D w T BALL A N c
RIGHT  LEFT DIA DIA  WIDTH WIDTH DIA THD  LGTH . Arene | Sl |l
E ' RADIAL = WEIGHT
HAND = HAND
LOAD (Ibs.)
PART PART UNF (Ibs.)
NO. NO. . : : 3a
RJF4 | RJFL4 | .2500 | .750 | .375 | .281 | .500 | 1.312 | 1/4-28 | .687 | .468 | .375 16 2,545 .06
RJF5 RJFLS | .3125 | .875 | .437 344 | 625 | 1.375 | 5116-24 | .687 | .500 | .437 14 3,200 .09
RJF6 RJFL6 | .3750 | 1.000 | .500 406 | .719 | 1.625 | 3/8-24 | .812 | .687 | .562 12 3,950 A5
NOTES:

FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: RJF5T



RJIMX-T / ROIMXL-T

3-PIECE, HEAVY DUTY / EXTRA HEAVY DUTY, PTFE LINED

D o W e
| T | a
+ > =
: B JSiEws -
* > 2
A o >§<
N
—l

MALE ROD ENDS

Q3NIT 341d ‘ALNA AAVIH VY1X3 / ALNA AAV3IH ‘303id-€

D w ULT.
RIGHT LEFT DIA DIA  WIDTH STATIC
HAND HAND S oAD
PART PART
NO. NO. (Ibs.)
RJMX5T | RJUMXLST | .3125 | .875 | .437 344 | .625 | 1.875 | 5/16-24 | 1.250 14 7,640 .07
RJMX6T | RJUMXL6T | .3750 | 1.000 | .500 406 | 719 | 1.938 | 3/8-24 | 1.250 12 9,550 112
RIMX7T | RJMXL7T | .4375 | 1.125 | .562 437 | 812 | 2125 | 716-20 | 1.375 14 10,290 .160
RJIMX8T | RJUMXL8T | .5000 | 1.312 | .625 500 | .937 | 2.438 | 1/2-20 | 1.500 12 16,242 .249
RJMX10T | RIMXL10T | .6250 | 1.500 | .750 562 | 1.125 | 2.625 | 5/8-18 | 1.625 16 17,959 .382
RJMX12T | RIMXL12T | .7500 | 1.750 | .875 687 | 1.312 | 2.875 | 3/14-16 | 1.750 14 28,090 .602

52100 STEEL STEEL ALLOY - HEAT TREATED
Rc 56 MIN HARD BRIGHT ELECTROLESS NICKEL
HARD CHROME PLATED | OR HARD CHROME PLATED

STEEL ALLOY - HEAT TREATED

ZINC PLATED
CHROMATE TREATED

LINER (STANDARD)
PTFE FABRIC




KMX / KMXL IMPORT

3-PIECE, ALLOY STEEL, HEAT TREATED - NYLON RACE

|
|

Bl
i

b

1
-___,-"'
: .
ﬂ'-'
CLEVIS
] B MOUNTED
e

-,

7

-
IHRECTION
NOLOED

- b=
- ()

=
&&m/“x}

3-PIECE, ALLOY STEEL, HEAT TREATED - NYLON RACE

MALE ROD ENDS
B D w
_l RIGHT LEFT DIA DIA  WIDTH
x HAND HAND
PART PART UNF
E \[oX \[oX . . 3a
x KMX5 KMXL5 .3125 .875 .437 .344 .625 1.875 | 5/16-24 | 1.250 14 7,600 .07
=~ KMX6-5 KMXL6-5 3125 .875 437 .344 .625 1.875 3/8-24 1.250 14 7,600 .07
x KMX6 KMXL6 .3750 | 1.000 .500 .406 .719 1.938 3/8-24 1.250 12 9,500 11
E KMX8 KMXL8 .5000 | 1.312 .625 .500 937 2.438 1/2-20 1.500 12 12,696 .24
x KMX10-8 KMXL10-8 .5000 | 1.500 .625 .500 .937 2.625 5/8-18 1.625 12 19,960 .36
KMX10 KMXL10 .6250 | 1.500 .750 .562 1.125 | 2.625 5/8-18 1.625 16 14,480 .36
KMX12-8 KMXL12-8 .5000 | 1.750 .750 .562 1.125 | 2.875 3/4-16 1.750 14 23,256 .57
KMX12-10 | KMXL12-10 | .6250 | 1.750 .750 .562 1.125 | 2.875 3/4-16 1.750 14 23,256 .57
KMX12 KMXL12 .7500 | 1.750 .875 .687 1.312 | 2.875 3/4-16 1.750 14 23,192 .57
KMX14 KMXL14 .8750 | 2.000 .875 770 1.375 | 3.375 7/8-14 2.000 12 45,051 .88
KMX14-12 | KMXL14-12 | .7500 | 2.000 .875 .687 1.312 | 3.375 7/8-14 1.875 12 43,485 .88
KMX16 KMXL16 1.0000 | 2.750 | 1.375 1.000 | 1.875 | 4.125 | 1.250-12 | 2.125 17 76,200 2.41
NOTES:

FOR STUDS, ADD “Y” TO SUFFIX.
EXAMPLE: KMX10Y

52100 STEEL STEEL ALLOY-HEAT TREATED

Rc 56 MIN HARD CHROME PLATED
HARD CHROME PLATED

NYLON 10 OR EQUIVALENT




SJM-T / SRSM-T / SJF-T

3-PIECE, PRECISION - STAINLESS STEEL, HIGH STRENGTH, PTFE LINED

W

BALL BOD
440C CRES 17-4PH CRES
STAINLESS STEEL | STAINLESS STEEL f'; N
HEAT TREATED HEAT TREATED ; t : - @ m
[ |l cLEwIs )
RACE LINER (STANDARD) & F; = i"""*‘“ m G
- 0
17-4PH CRES PTFE FABRIC e’ /F 7 m g
STAINLESS STEEL A : I p: L|
HEAT TREATED i m
o~
7
s
z A
]
MALE ROD ENDS « m
B D w . g
DIA DIA  WIDTH STATIC APPROX. =
RIGHT LEFT RADIAL WEIGHT @ Z !
HAND HAND LOAD (Ibs.) m —|
PART NO.  PART NO. ] ] U3NF ] (Ibs.) @~
a
a2vm
SIM4AT SJML4T | .2500 | .806 | .437 337 | 531 | 1.562 | 1/4-28 .968 11 4,874 .072 r_'n .
SIM5T SJMLST | .3125 | .900 | .437 344 | 625 | 1.875 | 5/16-24 | 1.187 11 7,196 .087 ] N
SJIM6ET SJML6T | .3750 | 1.025 | .500 416 | .687 | 1.938 | 3/8-24 | 1.187 11 8,580 136 T
SRSM6T | SRSML6T | .3750 | 1.150 | .500 416 | .687 | 2125 | 7116-20 | 1.375 11 17,610 160 g -
SIM7T SIML7T | .4375 | 1.150 | .562 452 | 781 | 2125 | 7116-20 | 1.281 13 12,000 183 ﬂ
SRSM7T | SRSML7T | .4375 | 1.337 | .562 452 | 781 | 2.438 | 1/2-20 | 1.500 13 23,470 .249 r;?l
SJIMST SJML8T | .5000 | 1.337 | .625 515 | .875 | 2.438 | 1/2-20 | 1.468 11 19,520 278 %
SRSM8T | SRSML8T | .5000 | 1.525 | .625 515 | .875 | 2.625 | 5/8-18 | 1.625 11 33,172 .382 ;
SJM10T | SJML10T | .6250 | 1.525 | .750 577 | 1.062 | 2.625 | 5/8-18 | 1.562 14 21,920 424 =
SRSM10T | SRSML10T | .6250 | 1.775 | .750 577 | 1.062 | 2.875 | 3/4-16 | 1.750 14 40,507 .602 a
m
SIM12T | SJML12T | .7500 | 1.775| .875 .640 | 1.250 | 2.875 | 3/4-16 | 1.687 17 29,310 .639 s
2
m
(o]

BALL BODY

440C CRES 17-4PH CRES
STAINLESS STEEL | STAINLESS STEEL

1
B CLEVIS
HEAT TREATED HEAT TREATED i N
RACE LINER (STAN- e
DARD) |
17-4PH CRES PTFE FABRIC T
STAINLESS STEEL
HEAT TREATED

FEMALE ROD
ENDS D w T LT.

— erT DIA DIA  WIDTH WIDTH DIA. FLAT e :A»"‘)« AL u’;g%-
HAND HAND LOAD (Ibs.)

Pr?oRT UNF _ (Ibs.)

. 3a

SJF4T | SJFL4AT | 2500 | .806 | .375 | .281 | .500 [1.312| 1/4-28 | .750 | .469 | .375 16 4,795 .059
SJFST | SJFL5T | .3125 | .900 | .437 | .344 | .625 [1.375| 516-24 | .750 | .500 | .437 14 5,929 .092
SJF6T | SJFL6T | .3750 | 1.025 | .500 | .406 | .719 [1.625| 3/18-24 | .937 | .687 | .562 12 7,363 152
SJF7T | SJFL7T | .4375 | 1150 | .562 | .437 | .812 [1.812| 7116-20 | 1.062 | .750 | .625 14 7,934 198
SJF8T | SJFL8T | .5000 | 1.337 | .625 | .500 | .937 [2.125| 1/2-20 | 1.187 | .875 | .750 12 12,527 .329
SJF10T | SJFL10T | .6250 | 1.525 | .750 | .562 | 1.125 | 2.500 | 5/8-18 | 1.500 | 1.000 | .875 16 13,851 ATT
SJF12T | SJFL12T | .7500 | 1.775 | .875 | .687 | 1.312 | 2.875| 3/4-16 | 1.750 | 1.125 | 1.000 14 21,664 .723




HJMX-T / HRSMX-T / HIN-T

HIGH MISALIGNMENT SERIES - MALE ROD ENDS & SPHERICAL BEARINGS - HEAVY DUTY, PTFE LINED

BALL

52100 STEEL
HEAT TREATED
HARD CHROME PLATED

PTFE LIKER —
BOKDED TG

RAZELE

\ﬁ;i
dob ]

1

RACE

STEEL ALLOY
ZINC PLATED
CHROMATE TREATED

BODY

4340 STEEL - HEAT
TREATED

ZINC PLATED
CHROMATE TREATED

LINER (STANDARD)

—

—

B
P
\,/(

A

NN\

Z
-_—— t
L > PTFE FABRIC
=)
— >_
S MALE ROD ENDS
- < B D w + ULT.
¢ w DIA DIA WIDTH . STATIC
X I RIGHT LEFT RADIAL
* HAND HAND LOAD
E w B PARTNO. = PARTNO. 3 3 UNF 3 3 (Ibs.)
ne -
o f] | HRSMX4T | HRSMXLAT | .2500 [1.025| .593 | .265 | .593 | 1.938 | 3/8-24 | 1.187 | .390 23 10,790 A2
T E HJMX6T | HJMXL6T | .3750 [1.150 | .813 | .355 | .781 [ 2125 | 3/8-24 | 1.281 | .512 22 11,390 A2
Y | HRSMX6T | HRSMXLGT | 3750 | 1.150 | 813 | .355 | .781 | 2125 | 7116-20 | 1.281 | 512 22 11,789 A5
- 5 HJMX7T | HJMXL7T | .4375 [1.337 | .875 | .355 | .875 | 2.438 | 7/16-20 | 1.468 | .618 21 15,716 .23
(J=f| | HRSMX7T | HRSMXL7T | .4375 [ 1.337 | .875 | .355 | .875 | 2.438 | 1/2-20 | 1.468 | .618 21 17,100 24
X P HJMX8T | HJMXL8T | .5000 | 1.525 | .937 [ .411 | 1.000 | 2.625 [ 1/2-20 | 1.562 | .730 19 23,703 .33
= i HRSMX8T | HRSMXL8T | .5000 | 1.525 [ .937 | .411 [ 1.000 | 2.625 | s/8-18 | 1.562 | .730 19 23,703 .39
E G | HIMX10T | HJMXL10T | .6250 | 1.775 [ 1.200 | .577 | 1.250 | 2.875 | 5/8-18 | 1.687 [ .856 19 28,109 57
Gl | HRSMX10T | HRSMXL10T | .6250 | 1.775 | 1.200 | .577 | 1.250 | 2.875 | 3/4-16 | 1.687 | .856 19 32,100 .60
HIMX12T | HJIMXL12T | .7500 [ 2.025| 1.280 | .630 | 1.375 [ 3.375 | 3/4-16 | 2.000 | .970 18 38,701 .82
HRSMX12T | HRSMXL12T | .7500 | 2.025 [ 1.280 | .630 [ 1.375 | 3.375 | 7/8-14 | 2.000 [ .970 18 38,701 .89
1'-.'"'-"
—D T
]
PTFELMER __ |
BOMDEBTE | |

BACE 1D,

B w
BEARING DIA DIA WIDTH
PART
NO.
HIN4T .2500 .7400 .593 .255 .390 .593 .020 24 7,560 .040
HING6T .3750 .9060 .813 .345 512 781 .030 23 16,983 .068
HIN7T .4375 | 1.0000 .875 .345 .618 .875 .030 22 19,023 .095
HIN8T .5000 | 1.1250 .937 .401 .730 1.000 .030 20 25,275 .160
HIN10T .6250 | 1.3750 1.200 .567 .856 1.250 .030 20 44,652 .245
HIN12T .7500 | 1.5625 1.280 .620 .970 1.375 .035 18 53,716 .315




—

MALE ROD ENDS

PMX-T / PMXL-T

3-PIECE, PERFORMANCE RACING, STAINLESS STEEL RACE, WEAR RESISTANT, PTFE LINED

P
CLEWVIE
MOLUMTED

1-IXINd / 1L-XINd

\ \ AL GG\ L\l
I P A A A A A A A A A A

PN YV Y YN VY VY VYV YNV YN Y
[t 1 4 It ]

Q3aNIT 341d ‘I0VYH 1331S SSIATINIVLS ‘ONIOVY FONVINYO4Y3Id ‘I03Id-€

B D T

RIGHT LEFT DIA DIA WIDTH WIDTH STATIC  APPROX.

RADIAL = WEIGHT
HAND HAND e o
PART PART UNF (lbs.)
(Ibs.)
NO. NO. 3a -

PMX5T | PMXLST | .3125 | .900 | .437 327 | 593 | 1.875 | 516-24 | 1.187 14 8,302 .08
PMX6T | PmMXL6T | .3750 [ 1.025 | .500 416 | .687 | 1.938 | 3/8-24 | 1.187 8 10,940 A3
PMX7T | PMXL7T | .4375 | 1.150 | .562 452 | .781 | 2125 | 7116-20 | 1.281 10 14,052 18
PMX8T | PmMXL8T | .5000 | 1.337 | .625 515 | .875 | 2.438 | 1/2-20 | 1.468 9 23,314 .27
PMX10T | PMXL10T | .6250 | 1.525 | .750 577 | 1.062 | 2.625 | 5/8-18 | 1.562 12 25,900 42
PMX12T | PMXL12T | .7500 | 1.775 | .875 640 | 1.250 | 2.875 | 3/4-16 | 1.687 13 34,322 .63

BALL (MANUFACTURER’S OPTION) BODY

440C CRES STAINLESS STEEL 4340 STEEL

OR 52100 STEEL HEAT TREATED

HEAT TREATED R/C 56 MIN. ZINC PLATED

HARD CHROME PLATED CHROMATE TREATED
RACE LINER (STANDARD)
17-4PH CRES PTFE FABRIC

STAINLESS STEEL
HEAT TREATED




ALJM / ALUM-H / ALJF

3-PIECE, ALUMINUM SERIES / PTFE LINERS AVAILABLE

— FITTING
(DPTIONAL)

N

MALE ROD ENDS

* % bt HEAT TREATED 7075-T6
b . I /CL:;‘IS HARD CHROME PLATED | HARD ANODIZED RED
/ﬁ"? o
- 7 }
"'.‘ LUBRICATION STEEL ALLOY - HEAT TREATED

ALUMINUM

52100 STEEL

ZINC PLATED - CHROMATE TREATED

LINER (OPTIONAL)
PTFE FABRIC

LUBRICATION
FITTING
{OPTIONAL)

FEMALE ROD ENDS

| 5 o ! sngic APPROX
Ea';(\;r:g :ﬁ;{; DIA DIA  WIDTH WIDTH ANGLE paaric  APPROX:
PART +.0015 | +.010 | +.000 +.015 UNF +.062 (=)
W NO. -.0005 | -.010 | -.005 REF. [ o015 | 3a | -031
= ALJM3 ALJML3 1900 | .625 | .312 250 | .437 [ 1.250 | 10-32 | .750 13 1,360 .022
-l ALJM4 ALJML4 2500 | .750 | .375 281 | .500 | 1.562 | 1/4-28 | 1.000 16 2,465 .034
< ALJM5 ALJML5 3125 | .875 | .437 344 | 625 | 1.875 | 5116-24 | 1.250 14 2,850 .050
= ALJM6* ALJMLE* | .3750 | 1.000 | .500 406 | .719 | 1.938 | 3/8-24 | 1.250 12 4,208 .078
:': @ ALIM7 ALIML7 4375 | 1125 | 562 437 | 812 | 2125 | 7116-20 | 1.375 14 4,534 .091
E 5 ALJM8* ALJML8* | .5000 | 1.312 | .625 500 | .937 | 2.438 | 1/2-20 | 1.500 12 7,698 140
- g ALJM8H | ALJML8H | .5000 | 1.500 | .625 500 | .937 | 2.625 | 1/2-20 | 1.562 12 10,150 140
B | ALums-6* | ALuMLs-6* | .3750 | 1.312 | .625 500 | .937 | 2.438 | 1/2-20 | 1.500 12 7,698 140
< é ALIM10 | ALumLio | .6250 | 1.500 | .750 562 | 1.125 | 2.625 | 5/8-18 | 1.625 16 8,516 .240
=] | ALUM10H | ALJML10H | .6250 | 1.750 | .750 562 | 1.125 | 2.625 | 5/8-18 | 1.625 16 16,200 .268
E o | Awmiz | awmeiz | 7500 [ 1.750 | 875 687 | 1.312 | 2.875 | 3/1416 | 1.750 14 13,319 .300
i | 8 ALIM12H | ALJML12H | .7500 | 2.000 | .875 687 | 1.312 | 3.000 | 3/4-16 | 1.750 14 23,390 .300
J I!IIJ MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.
< o w
T

52100 STEEL ALUMINUM
HEAT TREATED 7075-T6
HARD CHROME PLATED | HARD ANODIZED RED

STEEL ALLOY - HEAT TREATED
ZINC PLATED - CHROMATE TREATED

LINER (OPTIONAL)
PTFE FABRIC
ao

RIGHT
HAND

LEFT
HAND

B
DIA

D
DIA

WIDTH

WIDTH

N

C
LGTH

E

DIA.

FLAT

F

MIS

ANGLE RaDIAL

ULT.
STATIC APPROX.

WEIGHT

PART | PART  pwyeR +.015 ey ||
NO. NO. -.0005 | -.010 -.015
ALJF3* | ALJFL3* | 1900 | 625 | .312 | .250 | .437 | 1.062 | 1032 | 500 | .406 | .312 [ 13 1,360 022
ALJF4 | ALoFLa | 2500 | 750 | 375 | .281 | .500 | 1.312 | 1/4-28 | 687 | 469 | 375 | 16 2.592 .034
ALJF5* | ALJFL5* | 3125 | 875 | 437 | 344 | 625 | 1.375 | 516-24 | 687 | 500 | 437 | 14 2,890 .050
ALJF6* | ALJFL6* | .3750 | 1.000 | .500 | .406 | .719 | 1.625 | 3/18-24 | 812 | 687 | 562 [ 12 3,952 .088
ALJF8* | ALJFL8* | 5000 | 1.312 | 625 | 500 | .937 | 2125 | 1/2-20 | 1.062 | 875 | .750 | 12 7,006 186
NOTES:

FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. EXAMPLE: ALJF6Z
FOR PTFE LINER, ADD “T” TO SUFFIX. EXAMPLE: ALIM12T
FOR STUDS, ADD “Y” TO SUFFIX. EXAMPLE: ALJF8Y

*ALSO AVAILABLE IN BLACK ~ ADD “-B” TO SUFFIX



ALRSM/ALRSML

3-PIECE, ALUMINUM SERIES, EXTRA STRENGTH - HEAVY DUTY SHANK / PTFE LINERS AVAILABLE

=
-
=

i
kY
5 '*:"’

CLEYIS
MOLINTED

H“H_'_H
jx

B
!

L LUBRICATICN
—— FITTING
(DOPTICMAL)

TNSYHTV / NSHTV

/ N

MUNVHS ALNA AAVIH - HLONIYLS VH1X3 ‘STI¥IS WNNIWNTY ‘I03Id-€

MALE ROD ENDS a° ULT
B D W T C ViG :
RIGHT LEFT DIA DIA WIDTH WIDTH LGTH | o1 | STATIC  APPROX.
HAND HAND RA(])DiAL WF;]I)GHT
PART PART +0015 [ +010 [ +000 | +005 [ oo [ +015 [ UNE L(lb D bs)
NO. NO. -.0005 | -.010 | -.005 -.005 | -.015 3A ) s-)
ALRSM5 ALRSML5 | 3125 | 1.000 | .437 344 625 | 1.938 | 3/8-24 | 1.250 12 5,592 059
ALRSM6 ALRSML6 | 3750 | 1.125 | .500 406 719 | 2.125 | 771620 | 1.375 10 7,718 088
ALRSM7 ALRSML7 | 4375 | 1312 | 562 437 812 | 2.438 | 172-20 | 1.500 12 11,000 121
ALRSMS8* | ALRSMLS8* [ .5000 | 1.500 | .625 500 937 | 2.625 | 5/8-18 | 1.625 10 14,880 200
ALRSMS-6* | ALRSML8-6* | .3750 | 1.500 | .625 500 937 | 2.625 | 5/8-18 | 1.625 10 14,880 200
ALRSM10 | ALRSMLI10 | .6250 | 1.750 | .750 562 | 1.125 | 2.875 | 3/4-16 | 1.750 13 19,240 317
ALRSM10-8 [ ALRSML10-8 | .5000 | 1.750 | .750 562 | 1.125 | 2.875 | 3/4-16 | 1.750 13 19,240 317
NOTES:

FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. EXAMPLE: ALRSM6Z
FOR PTFE LINER, ADD “T” TO SUFFIX. EXAMPLE: ALRSMS8T
*ALSO AVAILABLE IN BLACK ~ ADD “-B” TO SUFFIX

52100 STEEL ALUMINUM
HEAT TREATED 7075-T6
HARD CHROME PLATED | HARD ANODIZED RED

STEEL ALLOY - HEAT TREATED
ZINC PLATED - CHROMATE TREATED

LINER (OPTIONAL)
PTFE FABRIC




RSM/RSMX

3-PIECE, HIGH STRENGTH - HEAVY DUTY SHANK / PTFE LINERS AVAILABLE

—-— W .
T 52100 STEEL LOW CARBON STEEL
e I Rc 56 MIN HARD ZINC PLATED
o HARD CHROME PLATED | CHROMATE TREATED
B <} a5,
] < :
g A STEEL ALLOY - HEAT TREATED
| tamcanon 07/} ZINC PLATED
oFTionaL) CHROMATE TREATED
LINER (OPTIONAL
N 97 ( )

PTFE FABRIC

MALE ROD ENDS

B P 52100 STEEL STEEL ALLOY-HEAT TREATED
- Rc 56 MIN HARD ZINC PLATED
| - /\-" HARD CHROME PLATED | CHROMATE TREATED
=
B T wounten

D w T NTIS LT.

¥ STATIC  APPROX.

DIA DIA WIDTH WIDTH
Z o ANGLE RADIAL WEIGHT
I HAND
I BART LOAD (Ibs.)
& NO 3 ) (Ibs.)
E - 8 8 8 .
8 RSM3 | RsmL3 | 1900 | .750 | .312 250 | .437 | 1.562 | 1/4-28 | 1.000 10 2,170 .043
bl | RsM4 | RsML4 | .2500 | .875 | .375 .281 500 | 1.875 | 5116-24 | 1.250 13 3,523 072
E4 | Rsms | RsmLs | 3125 | 1.000 | 437 344 | 625 | 1.938 | 3/18-24 | 1.250 12 5,370 112
w
&l | Rsme | RsmLe | .3750 | 1.125 | .500 406 | .719 | 21125 | 716-20 | 1.375 10 7,230 160
[}
Bl | RsM7 | RsML7 | 4375 | 1.312 | 562 437 | 812 | 2.438 | 1/2-20 | 1.500 12 9,685 .249
'—
5] | Rsms | RsmLs | .5000 | 1.500 | .625 500 | .937 | 2.625 | 5/18-18 | 1.625 10 12,843 .382
4
n RSM10 | RSML10 | .6250 | 1.750 | .750 562 | 1.125 | 2.875 | 3/4-16 | 1.750 13 16,613 .602
|_
»
T
o
I
"
5]
w
a
o

RSM / RSMX

%ﬁ > | STEEL ALLOY - HEAT TREATED
| wemoamon (] ZINC PLATED
R, CHROMATE TREATED

LINER (OPTIONAL)
PTFE FABRIC

N A

MALE ROD ENDS
B D w uLT.
RIGHT LEFT DIA DIA WIDTH WIDTH STATIC  APPROX.
RADIAL WEIGHT
HAND HAND e o
PART PART (Ibs.)
NO. NO. - a  (bs)
RSMX4 RSMXL4 2500 | .875 | .375 | .281 | .500 | 1.875 | 5116-24 | 1.250 | 13 8,471 .072
RSMX5 RSMXL5 .3125 | 1.000 [ .437 | .344 | 625 | 1.938 | 3/8-24 | 1.250 | 12 13,012 [ .12
RSMX6 RSMXL6 3750 | 1125 | .500 | .406 | .719 | 2.125 | 7/16-20 | 1.375 | 10 17,610 [ .160
RSMX7 RSMXL7 4375 | 1.312 | .562 | .437 | .812 | 2.438 | 1/2-20 | 1.500 [ 12 23,470 | .249
RSMX8 RSMXL8 .5000 | 1.500 [ .625 | .500 | .937 | 2.625 | 5/8-18 | 1.625 | 10 31,420 | .382

RSMX10-8 RSMXL10-8 | .5000 | 1.750 | .750 .562 1.125 | 2.875 | 3/4-16 | 1.750 13 40,590 .602
RSMX10 RSMXL10 .6250 | 1.750 | .750 .562 1125 | 2.875 | 3/4-16 | 1.750 13 40,590 .602
RSMX12 RSMXL12 .7500 | 2.000 | .875 .687 1.312 | 3.375 | 7/8-14 | 1.875 12 55,696 918

RSMX14T** | RSMXL14T** | .8750 | 2.312 | .875 .765 1.375 | 3.800 1-14 2.375 12 63,096 1.302

NOTES:

FOR PTFE LINER, ADD “T” TO SUFFIX. EXAMPLE: RSM10T

FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. EXAMPLE: RSMXL5Z

FOR STUDS, ADD “Y” TO SUFFIX. EXAMPLE: RSM8Y

MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.
#**RACE IS 17-4PH STAINLESS STEEL, HEAT THREATED / BALL IS 440C STAINLESS STEEL OR 52100 STEEL (HEAT TREATED) - MANUFACTURER’S OPTION




EMX

3-PIECE, PRECISION - EXTRA CAPACITY / PTFE LINERS AVAILABLE

T y
w
b 1
p Y n)
1 TXN m
.-"'-‘ o O
B i CLEVIS m
1 .| WOUNTED &
} L™ A
J 7 5
7]
A | LUBRICATION 4 =
— FITTING 7 o
(DPTIOMAL) .Z
m
x
-~
X
1 N 2
3
3
MALE ROD ENDS
D oW T RADIAL LOAD 3
RIGHT  LEFT DIA. DIA WIDTH WIDTH 5 APPROX. B <
(Ibs.) WEIGHT
HAND  HAND (1bs)
PART  PART WITH  WITHOUT '
NO. NO. : : LUBE LUBE
EmMX4 | EmMxL4 | 2500 | .750 | 375 | .281 | .s00 | 1.562 | 5/16-24 | 1.000 16 3,260 6,680 .06
EMX5 | EMXL5 | .3125 | .875 | 437 | .344 | 625 | 1.875 | 3/18-24 | 1.250 14 4,920 8,410 .09
EMX6 | EMXLe | .3750 | 1.000 | .500 | .406 | .719 | 1.938 | 7116-20 | 1.250 12 7,240 11,160 A3
EMX7 | EMXL7 | 4375 | 1125 | 562 | .437 | .812 | 2.125 | 1/2-20 | 1.375 14 7,620 13,660 18
EmMx8 | EmMxL8 | .5000 | 1.312 | .625 | .500 | .937 | 2.438 | 5/8-18 | 1.500 12 11,920 | 19,340 .30
EMX10 | EMXL10 | .6250 | 1.500 | .750 | .562 | 1.125 | 2.625 | 3/4-16 | 1.625 16 13,940 | 21,080 .46
EMX12 | EMXL12 | .7500 [ 1.750 | .875 | .687 | 1.312 | 2.875 | 7/8-14 | 1.750 14 21,570 | 29,800 72

NOTES:
FOR GREASE FITTINGS, ADD “Z” TO SUFFIX.
EXAMPLE: EMX6Z

52100 STEEL STEEL ALLOY-HEAT TREATED
Rc 56 MIN HARD ZINC PLATED
HARD CHROME PLATED | CHROMATE TREATED

FOR STUDS, ADD “Y” TO SUFFIX.

STEEL ALLOY - HEAT TREATED EXAMPLE: EMX5Y
ZINC PLATED
CHROMATE TREATED FOR PTFE LINER, ADD “T” TO SUFFIX.
LINER (OPTIONAL) EXAMPLE: EMX12T
PTFE FABRIC
L P s N NOTES:
Egg LENGTH. LENGTH. LENGTH. THREAD> L L. AVAILABLE ON ALL SERIES.
UNF i | 2. STUD MATERIAL: LOW CARBON STEEL AND
-.015 : : 2A e ALLOY STEEL (HEAT TREATED).
3 1016 500 237 1032 e +  3.STUD MISALIGNEMENT APPROX. +/- 250 IN ANY
4 DIRECTION.
4 1.031 .562 -500 1/4-28 e ¥ [ “  4.TO SPECIFY RIGHT HAND STUD, ADD SUFFIX “Y”
5 1.219 .687 .593 5/16-24 el B i TO PART NUMBER. EXAMPLE: CM6Y
5. TO SPECIFY LEFT HAND STUD, ADD SUFFIX “YL”
A ess s e SLEL 5 P - R | TO PART NUMBER. EXAMPLE: CM6YL
7 1.750 1.062 .937 7/16-20 6. TO SPECIFY HEAT TREATED STUD, ADD SUFFIX
8 2.000 1125 1.000 1/2-20 | | “YX” TO PART NUMBER (AVAILABLE ON SIZES
6-12 ONLY).
10 2.500 1.500 1.875 5/8-18 ; 7. FOR LOAD RATINGS WITH STUDS, PLEASE
12 3.000 1.812 1.625 3/4-16 CONTACT FK ENGINEERING DEPARTMENT




CM-M | CF-M METRIC

2-PIECE METRIC, METAL TO METAL / PTFE LINERS AVAILABLE

;,‘ Ay 52100 STEEL LOW CARBON STEEL
LT » Rc 56 MIN ZINC PLATED
 iorTanaL) HARD CHROME PLATED | CHROMATE TREATED

N (L PTFE FABRIC

Q
=
m
=

MALE ROD ENDS

D STATIC APPROX.
RIGHT LEFT RADIAL WEIGHT
HAND HAND LOAD (GRAMS)
PART NO. PART NO. 12 REF. REF. 3 Newton
CM5M* CML5M* 5 16 8 5.75 11.10 33 M5X0.8 20 22 5,168 12
CM6M* CML6M* 6 19 9 6.25 12.70 36 M6 X 1.0 22 23 7,296 18
CM8M* CML8M* 8 22.25 12 8.0 15.88 42 M8 X 1.25 25 28 13,591 31
zl‘< CM10M CML10M 10 27 14 9.5 19.05 48 M10X 1.5 29 26 21,024 68
E CM10MF | CML10MF 10 27 14 9.5 19.05 48 M10X1.25 29 26 21,024 68
= CM12M CML12M 12 30 16 10.75 | 22.23 54 M12X1.75 33 27 25,819 78
e CM12MF | CML12MF 12 30 16 10.75 | 22.23 54 M12X1.25 33 27 25,819 78
E Fsl CM14M CML14M 14 34.75 19 12.25 | 25.40 60 M14X 2.0 36 30 35,214 118
i g CM16M CML16M 16 38 21 12.75 | 28.58 66 M16 X 2.0 40 33 37,391 173
O o CM18M CML18M 18 42 23 14.75 | 31.75 72 M18X 1.5 44 30 47,903 260
-~ .0__: CM20M CML20M 20 46 25 16.25 | 34.93 78 M20X 1.5 47 29 57,101 290
{IT} * MALE ROD END LOAD RATINGS BASED ON NO LUBRICATION FITTING. FOR LOAD RADING WITH LUBRICATOR, PLEASE CONTACT THE FK ENGINEERING DEPARTMENT.
2 = *“GREASE FITTINGS ARE NOT SUPPLIED ON THESE SIZES
s w
=G
= D—=
O3 T
N

52100 STEEL LOW CARBON STEEL
Rc 56 MIN ZINC PLATED

HARD CHROME PLATED | CHROMATE TREATED
LINER (OPTIONAL)
PTFE FABRIC

LUBRIGATION *
“FITTING C
(OPTIONAL) &

FEMALE ROD ENDS

N c

RIGHT LEFT WIDTH WIDTH THD LGTH STATIC APPROX.

HAND HAND RADIAL WEIGHT

S S LOAD (GRAMS)

REF. 3 MM 3 Newton
[\[e} [\[e} . . . .

CF5M* | CFL5M* 5 16 8 575 | 11.10 27 M5 X 0.8 14 11 9 22 8,247 18

CF6M CFL6M 6 19 9 6.25 | 12.70 30 M6 X 1.0 14 13 11 23 11,895 25

CF8M CFL8M 8 | 2225 12 8.0 15.88 36 M8 X 1.25 17 16 14 28 15,190 40
CF10M | CFL10M 10 27 14 9.5 19.05 | 43 M10X 1.5 21 19 17 26 22,750 80
CF10MF | CFL1OMF | 10 27 14 9.5 19.05 | 43 | m10x1.25 | 21 19 17 26 22,750 80
CF12M | CFL12M 12 30 16 10.75 | 22.23 50 | M12X1.75 | 24 22 19 27 25,819 95
CF12MF | CFL12MF | 12 30 16 10.75 | 22.23 50 M12X1.25 | 24 22 19 27 25,819 95
CF14M | CFL14M 14 | 34.75 19 12.25 | 25.40 57 M14 X 2.0 27 25 22 30 35,214 160
CF16M | CFL16M 16 38 21 12.75 | 28.58 64 M16 X 2.0 33 27 22 33 37,391 215
CF18M | CFL18M 18 42 23 14.75 | 31.75 71 M18X 1.5 36 | 28.58 | 25.4 30 47,903 300
CF20M | CFL20M 20 46 25 16.25 | 34.96 77 M20 X 1.5 40 | 3015 | 27 29 57,101 350

NOTES:

FOR PTFE LINER, ADD “T” TO SUFFIX. EXAMPLE: CM8MT

FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. EXAMPLE: CF6OMZ
*GREASE FITTINGS ARE NOT SUPPLIED ON THESE SIZES




METRIC SCM-MT / SCF-MT

2-PIECE METRIC, STAINLESS STEEL, PTFE LINED

~| MOUNTED

-

BALL BODY

5O
S m Q)
440C STAINLESS STEEL | 303 STAINLESS STEEL — m <
HEAT TREATED PASSIVATED =4
LINER (STANDARD) = =
PTFE FABRIC o=
g =
MALE ROD ENDS 5 W - o uLT. JE> (@)
DIA  WIDTH WIDTH STATIC APPROX. B = O
RIGHT LEFT RADIAL WEIGHT m -n
HAND HAND LOAD (GRAMS) 8 '
PART NO. PART NO. A A MM X Newton »
. . . . “wS
SCM5MT SCML5MT 5 16 8 5.75 11.10 33 M5X0.8 20 22 4,056 12 m _l
SCM6MT SCML6MT 6 19 9 6.25 12.70 36 M6 X 1.0 22 23 6,093 18 r
SCM8MT SCML8MT 8 22.25 12 8.0 15.88 42 M8 X 1.25 25 28 9,118 31 3
=
SCM10MT | SCML10MT 10 27 14 9.5 19.05 48 M10X 1.5 29 26 14,144 68 m
i
SCM12MT | SCML12MT 12 30 16 10.75 22.23 54 M12X1.75 33 27 17,373 78 E
SCM14MT | SCML14MT 14 34.75 19 12.25 25.40 60 M14X 2.0 36 30 23,699 118 g
SCM16MT | SCML16MT 16 38 21 12.75 28.58 66 M16 X 2.0 40 33 25,162 173
SCM18MT | SCML18MT 18 42 23 14.75 31.75 72 M18X 1.5 44 30 28,589 260
SCM20MT | SCML20MT 20 46 25 16.25 34.93 78 M20X 1.5 47 29 34,245 290

=
ul
X
O

BALL BODY

440C STAINLESS STEEL | 303 STAINLESS STEEL
HEAT TREATED PASSIVATED

LINER (STANDARD)

PTFE FABRIC

FEMALE ROD ENDS - - W T c - o ULT.

DIA  DIA WIDTH WIDTH THD LGTH DIA. FLAT STATIC ~ APPROX.

RADIAL WEIGHT

LOAD (GRAMS)

PART NO. 3 A MM 3 Newton

SCF5MT | SCFL5MT 5 16 8 575 | 1110 | 27 M5 X 0.8 14 11 9 22 4,136 18
SCF6MT | SCFL6MT 6 19 9 6.25 | 12.70 | 30 M6 X 1.0 14 13 11 23 6,138 25
SCF8MT | SCFL8MT 8 22.25 12 8.0 15.88 | 36 M8 X 1.25 17 16 14 28 9,340 40
SCF10MT | SCFL1OMT | 10 27 14 9.5 19.05 | 43 M10X 1.5 21 19 17 26 15,310 80
SCF12MT | SCFL12MT | 12 30 16 10.75 | 22.23 | 50 | M12x1.75| 24 22 19 27 17,373 95
SCF14MT | SCFL14MT | 14 | 34.75 19 12.25 | 25.40 | 57 | M14X2.0 27 25 22 30 23,699 160
SCF16MT | SCFL16MT | 16 38 21 12.75 | 2858 | 64 | M16X2.0 33 27 22 33 25,162 215
SCF18MT | SCFL18MT | 18 42 23 14.75 | 31.75 | 71 M18X 1.5 36 | 2858 | 25.4 30 28,589 300
SCF20MT | SCFL20MT | 20 46 25 16.25 | 34.93 | 77 M20X1.5 | 40 | 30.15| 27 29 34,245 350




JM-M / JML-M F—

3-PIECE MALE METRIC, PRECISION - WEAR RESISTENT / PTFE LINERS AVAILABLE

T
Fo |
i i A
-1 B
B e CLEVIS

| WOUNTEDR

\THK T

£

METRIC

A = | LUBRICATION
T (OPTIONAL)
C \
1 N
MALE ROD ENDS W - ULT.
WIDTH WIDTH STATIC APPROX.
RIGHT LEFT RADIAL WEIGHT
=0 HaND HAND LOAD  (GRAMS)
9 PART NO. PART NO. ) ; ; 3 A ) MM ) A Newton
g JM5M JML5M 5 16 8 6.25 11.10 33 M5X0.8 20 14 5,170 13
E g JM6M JML6M 6 19 9 7 12.70 36 M6 X1.0 22 13 7,295 18
' 2;» JM8BMF JML8MF 8 22.25 12 8.75 15.88 42 M8 X1.0 25 18 13,595 31
J E JM8M JML8M 8 22.25 12 8.75 15.88 42 M8 X1.25 25 18 13,595 31
E E JM10MF JML10MF 10 27 14 10.5 19.05 48 M10X1.25 29 17 20,605 68
ﬁ E JM10M JML10M 10 27 14 10.5 19.05 48 M10X 1.5 29 17 20,605 68
=~ El JM12MF JML12MF 12 30 16 12 22.23 54 M12X1.25 33 17 18,215 78
E E JM12M JML12M 12 30 16 12 22.23 54 M12X1.75 33 17 18,215 78
§' 8 JM14MF JML14MF 14 34.75 19 13.50 25.40 60 M14X1.5 36 21 29,840 118
ﬁ O_I. JM14M JML14M 14 34.75 19 13.50 25.40 60 M14 X 2.0 36 21 29,840 118
© JM16MF JML16MF 16 38 21 14.25 28.58 66 M16 X 1.5 40 23 32,225 173
JM16M JML16M 16 38 21 14.25 28.58 66 M16 X 2.0 40 23 32,225 173
JM18M JML18M 18 42 23 16.25 31.75 72 M18 X 1.5 44 21 41,300 260
JM20M JML20M 20 46 25 18 34.93 78 M20 X 1.5 47 20 50,952 290
JM20MC JML20MC 20 46 25 18 34.93 78 M20 X 2.5 47 20 50,952 290
*JM22M *JML22M 22 50 28 19.50 38.10 86 M22X1.5 51 22 56,238 315
*JM25M *JML25M 25 60 31 22 42.86 95 M24 X 2.0 57 19 104,435 500
*JM3OM** | *JML3OM** 30 74.93 | 34.925 | 25.78 47.62 | 114.3 | M30X 2.0 63.5 17 193,732 1,224

* CHECK AVAILABILITY ON THESE SIZES.
##* TOLERANCE VARIATION: “D” & “A” ARE +/- .51

NOTES:
— 52100 STEEL
FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. Re 56 MIN HARD

EXAMPLE: IM12MZ

LOW CARBON STEEL
ZINC PLATED
HARD CHROME PLATED | CHROMATE TREATED

FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: IM14MT STEEL ALLOY - HEAT TREATED

ZINC PLATED
CHROMATE TREATED

LINER (OPTIONAL)
PTFE FABRIC




METRIC JF-M / JFL-M

3-PIECE FEMALE METRIC, PRECISION - WEAR RESISTENT / PTFE LINERS AVAILABLE

3 (S
mn
N \%:J/ B B —K\_ HGUN’-’IED (9} !
i m
) i
Tfr =~
A 1 T > C.
\i LUBRICATION ! r
" FITTING [ 2 ﬂ
OPRTIOMNAL] -
@ } J_ - N r_'n |.—
)
IS
—
)
. m
FEMALE ROD ENDS - - - ULT. o)
RIGHT LEFT WIDTH WIDTH LGTH DIA. FLAT STATIC APPROX. § &
HAND HAND RADIAL WEIGHT ] O
LOAD (GRAMS) | Z
-12 Newton
JF5M JFL5M 5 16 8 6.25 | 11.10 33 M5X 0.8 14 11 9 14 7,090 17
JF6M JFL6M 6 19 9 7 12.70 36 M6 X 1.0 14 13 11 13 10,575 25
JF8MF JFL8MF 8 2225| 12 8.75 | 15.88 42 M8 X1.0 17 16 14 18 14,075 40
JF8M JFL8M 8 2225| 12 8.75 | 15.88 42 M8X1.25 | 17 16 14 18 14,075 40
JF1OMF | JFL1OMF 10 27 14 10.5 | 19.05 48 | m10x1.25| 21 19 17 17 20,605 80
JF10M JFL1OM 10 27 14 10.5 | 19.05 48 M10X1.5 | 21 19 17 17 20,605 80 g
JF12MF | JFL12MF 12 30 16 12 22.23 54 |m12x1.25| 24 22 19 17 18,215 95 m
JF12M JFL12M 12 30 16 12 22.23 54 | M12X1.75| 24 22 19 17 18,215 95 ~|
JF14MF | JFL14MF 14 | 34.75| 19 13.50 | 25.40 60 M14X1.5 | 27 25 22 21 29,840 160 m
JF14M JFL14M 14 | 34.75| 19 13.50 | 25.40 60 M14X2.0 | 27 25 22 21 29,840 160 a
JF16MF | JFL16MF 16 38 21 14.25 | 28.58 66 M16X1.5 | 33 27 22 23 32,225 215
JF16M JFL16M 16 38 21 14.25 | 28.58 66 M16X2.0 | 33 27 22 23 32,225 215
JF18M JFL18M 18 42 23 16.25 | 31.75 71 M18X1.5 | 36 |28.58| 25.4 21 41,305 300
JF20M JFL20M 20 46 25 18 34.93 77 M20X1.5 | 40 |30.15| 27 20 50,955 350
JF20MC | JFL20MC 20 46 25 18 34.93 77 M20X2.5 | 40 |30.15]| 27 20 50,955 350
*JF22M | *JFL22m 22 50 28 19.50 | 38.10 86 M22X1.5 | 43 37 32 22 56,240 390
*JF25M | *JFL25M 25 60 31 22 42.86 95 M24X2.0 | 48 42 36 19 104,435 700
*JF30M** | *JFL30M** | 30 | 69.85 | 34.925 | 25.4 | 47.625 | 104.78 | M30X2.0 | 53.98 | 41.28 | 38.1 17 193,732 | 1093

* CHECK AVAILABILITY ON THESE SIZES.
## TOLERANCE VARIATION: “D” & “A” ARE +/- .51

LOW CARBON STEEL NOTES:
ZINC PLATED FOR GREASE FITTINGS, ADD “Z” TO SUFFIX.

EXAMPLE: JF12MZ

52100 STEEL
Rc 56 MIN HARD
HARD CHROME PLATED | CHROMATE TREATED

FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: JF14MT

STEEL ALLOY - HEAT TREATED
ZINC PLATED
CHROMATE TREATED

LINER (OPTIONAL)
PTFE FABRIC




JMX-M / JMXL-M METRIC

3-PIECE MALE METRIC, HIGH STRENGTH - PRECISION - WEAR RESISTENT / PTFE LINERS AVAILABLE

@) hS
LY * _,-"’-'-‘
x B JSeus
-
l.l_] . f H.H ‘
>
E | LUBRICATION
Y FITTING
(OPTIOMAL)
M

Z
o}
(2]
(]
w
o
G
T MALE ROD ENDS ° ULT.
5 UErT WIDTH WIDTH STATIC APPROX.
Z RIGHT HAND RADIAL  WEIGHT
w f| HAND PART BART LOAD  (GRAMS)
12 \[oX A 3 MM A Newton
= NO.
E. T JMX5M JMXL5M 5 16 8 625 | 1110 | 33 | mM5x08 | 20 14 5,170 13
| % JMX6M JMXL6M 6 19 9 7 1270 | 36 | mex1.0 | 22 13 17,725 18
X B [ JmxemF | umxLemF 8 |2225| 12 875 | 1588 | 42 | mM8x1.0 | 25 18 33,137 31
2 .n__: JMXEM JMXLEM 8 |2225| 12 875 | 1588 | 42 | m8x1.25 | 25 18 33,137 31
| g JMX10ME | JmxLiomE [ 10 27 14 105 | 19.05 | 48 |miox1.25| 29 17 50,225 68
-~ M [ Jwxiom | Jwxciom | 10 27 14 105 | 19.05 | 48 | m10x15 | 29 17 50,225 68
E <§t JMX12ME | JmxLiemE [ 42 30 16 12 | 2223 | 54 |m12x1.25( 33 17 44,487 78
>'< [ umxiem [ gmxeiem | 12 30 16 12 | 2223 | 54 |m12x1.75| 33 17 44,487 78
E bl [ omx1amF | JMxL1amE | 14 | sa75| 19 1350 | 2540 | 60 | M14x1.5 | 36 21 71,745 118
- g JMX14M | JMxL1am | 14 [ 3475 | 19 1350 | 2540 | 60 | M14x20 [ 36 21 71,745 118
JUX16ME | JMxL16MF | 16 38 21 1425 | 2858 | 66 | m16x1.5 | 40 23 76,290 173
JUX16M | JmxLiem | 16 38 21 14.25 | 2858 | 66 | M16X2.0 [ 40 23 76,290 173
JUX18M | Jmxrism | 18 42 23 16.25 | 31.75 | 72 | M18X1.5 | 44 21 100,740 | 260
JMX20M | JmxLzom [ 20 | 46 25 18 | 3493 | 78 | m20x1.5 | a7 20 120,210 [ 290
JMX20MC | JMXL20MC | 20 46 25 18 | 3493 | 78 | m20x25 | 47 20 120,210 | 290
*JMX22M | *JMXL22M | 22 50 28 19.50 | 3810 | 86 | M22x1.5 | 51 22 137,100 | 315
*IMX25M | *JMXL25M | 25 60 31 22 | 4286 | 95 | m2ax20 | 57 19 251,780 | 500
*IMX30M** [ *JMXL30M** | 30 | 74.93 [ 34.925 | 25.78 | 47.62 | 114.3 | M30x2.0 | 635 17 | 476,745 | 1,224

* CHECK AVAILABILITY ON THESE SIZES.
** TOLERANCE VARIATION: “D” & “A” ARE +/- .51

NOTES: 52100 STEEL
FOR GREASE FITTINGS, ADD “Z” TO SUFFIX. | Re 56 MIN HARD

EXAMPLE: IMX12MZ

STEEL ALLOY-HEAT TREATED
ZINC PLATED
HARD CHROME PLATED | CHROMATE TREATED

FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: IMX14MT

STEEL ALLOY - HEAT TREATED

ZINC PLATED
CHROMATE TREATED

LINER (OPTIONAL)
PTFE FABRIC




METRIC JFX-M / JFXL-M

3-PIECE FEMALE METRIC, HIGH STRENGTH - PRECISION - WEAR RESISTENT / PTFE LINERS AVAILABLE

=
=
o
=
'
N
X
A
s

@
At
m
(o)
m
mn
m
=
A >
\ LUBRICATION ' E
L FITTING C
{OPTIONALY g
R 0
-
2
o
=
2
FEMALE ROD ENDS o - . = - w?us ULT. o
RIGHT WIDTH WIDTH THD LGTH DIA. FLAT ,. o~ STATIC | APPROX. —
HAND  LEFTHAND RADIAL WEIGHT [fm
PART LOAD  (GRAMS) | =
NO. 12 . . MM X Newton (7]
. - K -
I
JFX5M JFXL5M 5 16 8 6.25 | 11.10 | 33 M5X0.8 | 14 1 9 14 16,400 17 T
JFX6M JFXL6M 6 19 9 7 12.70 [ 36 M6X1.0 | 14 13 11 13 25,785 25 L
JFX8MF JFXL8MF 8 |[2225( 12 8.75 | 15.88 | 42 M8X1.0 | 17 16 14 18 33,215 40 g
JFX8M JFXLEM 8 |[2225| 12 875 | 1588 | 42 | M8X1.25 [ 17 16 14 18 33,215 40 o)
JEX10MF | JFXL10MF | 10 | 27 14 105 | 19.05 | 48 |M10X1.25[ 21 19 17 17 50,230 80 <
JFX10M JFXL10M 10 | 27 14 105 | 19.05 | 48 | M10X1.5 [ 21 19 17 17 50,230 80 g
JEX12MF | JFXL12MF | 12 | 30 16 12 2223 | 54 |M12Xx1.25( 24 22 19 17 44,490 95 m
JFX12M JFXL12M 12 | 30 16 12 2223 | 54 [M12X1.75| 24 22 19 17 44,490 95 -
JFEX14MF | JFXL14MF | 14 [34.75| 19 [ 13550 [ 2540 | 60 | M14x1.5 | 27 25 22 21 71,745 160 Py
—-—
JFX14M JFXL14M 14 [3475| 19 | 1350 | 25.40 | 60 | M14Xx20 | 27 25 22 21 71,745 160 (@)
JFX16MF | JFXL16MF | 16 | 38 21 1425 | 2858 | 66 | M16X1.5 [ 33 27 22 23 76,295 215
JFX16M JFXL16M 16 | 38 21 1425 | 2858 | 66 | M16X2.0 | 33 27 22 23 76,295 215
JFX18M JFXL18M 18 | 42 23 [ 1625 | 31.75 [ 71 M18X1.5 | 36 |28.58 | 254 | 21 100,740 300
JFX20M JFXL20M 20 | 46 25 18 3493 | 77 | m20x1.5 [ 40 |[30.15]| 27 20 120,210 350
JFX20MC | JFXL20MC | 20 | 46 25 18 3493 | 77 | m20x25 [ 40 |[30.15]| 27 20 120,210 350
*JFX22M | *JFXL22M | 22 | 50 28 | 19.50 [ 3810 | 86 | M22Xx1.5 [ 43 37 32 22 | 137,100 390
*JFX25M | *JFXL25M | 25 | 60 31 22 | 4286 | 95 | mM24x2.0 | 48 42 36 19 251,780 700
*JFX30M** | *JFXL3OM** | 30 | 69.85 [ 34.925 | 25.4 | 47.625 | 104.78 [ M30X 2.0 | 53.98 | 41.28 | 38.1 17 | 338,960 [ 1093

* CHECK AVAILABILITY ON THESE SIZES.
#* TOLERANCE VARIATION: “D” & “A” ARE +/- .51

STEEL ALLOY-HEAT TREATED | NOTES:
ZINC PLATED FOR GREASE FITTINGS, ADD “Z” TO SUFFIX.

EXAMPLE: JF12MZ

52100 STEEL
Rc 56 MIN HARD
HARD CHROME PLATED | CHROMATE TREATED

FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: JF14MT

STEEL ALLOY - HEAT TREATED
ZINC PLATED
CHROMATE TREATED

LINER (OPTIONAL)

PTFE FABRIC




COM/COMH

COMMERCIAL SERIES SPHERICAL BEARINGS / PTFE LINERS AVAILABLE

D

LUBRICATICN
GRGIVE

\_,r
&[“ i

D w F a° ULT.
BEARING DIA WIDTH CHAMFER MIS STATIC  APPROX.
PART ANGLE  RADIAL  WEIGHT
» N +.0015 | +.0000 *+005 | per | REF REF. 3 lzg:.l)) &S
o -.0005 | -.0007 -.005
E com3 1900 | .5625 | .281 218 | .293 | .406 .015 1 3,250 014
5 com4 .2500 | .6562 | .343 250 | .364 | .500 .022 13.5 4,950 .022
E COM5 3125 | .7500 | .375 .281 419 | 562 .032 12 6,475 .030
g COM6 .3750 | .8125 | .406 312 | 516 | .656 .032 10 8,400 .038
@ com7 4375 | .9062 | .437 .343 | .530 | .687 .032 8 9,453 .047
% coms .5000 | 1.0000 | .500 390 | .600 | .781 .032 9.5 13,250 .065
I 7 coms-101 | .5000 | 1.0000 | 1.000 [ .390 | .e00 | .781 .032 9.5 13,250 .065
E & CcoM9 .5625 | 1.0937 | .562 437 | 671 | .875 .032 9.5 16,630 .086
O & COM10 6250 | 1.1875 | .625 500 | .739 | .968 .032 8.5 21,280 110
(&) g COM12 .7500 | 1.4375 | .750 593 | .920 [ 1.187 .044 9 31,920 .204
< < COM12T-3R | .7500 | 1.4375 | .750 593 | .920 | 1.187 .044 9 31,920 .204
E % com14 .8750 | 1.5625 | .875 .703 | .980 | 1.312 .044 9.5 41,960 .263
= COM16 1.0000 | 1.7500 | 1.000 | .797 | 1.118 | 1.500 .044 10 55,200 .386
o g COMH16*** | 1.0000 | 2.0000 | 1.000 [ .781 | 1.360 | 1.687 .032 9 70,820 .553
o o COMH19*** | 1.1875 | 2.3750 | 1.187 | .937 | 1.610 | 2.000 .032 8.5 100,730 .895
COMH20*** | 1.2500 | 2.3750 | 1.187 [ .937 | 1.610 | 2.000 .032 8.5 100,730 .895
COMH24*** | 1.5000 | 2.7500 | 1.375 | 1.094 | 1.860 | 2.312 .032 8.5 135,950 1.358
COMH28*** | 1.7500 | 3.1250 | 1.562 | 1.250 | 2.110 | 2.625 .044 8 176,370 1.948
COMH32** | 2.0000 | 3.5000 | 1.750 | 1.375 | 2.360 | 2.937 .044 8.5 217,060 2.650

#* BEARING COMES STANDARD WITH SNAP RING AND PTFE LINER.
CONTACT FK ENGINEERING FOR FURTHER INFORMATION.
##* BORE TOLERANCE: +.0025 / -.0005

Suggested Housing Bore For Press Fit of Spherial Bearings

BEARING OUSTIDE
ozE DIAMETER STEEL HOUSING

NOTES: +.0000/-.0007

COM SERIES

ALUMINUM
HOUSING

LUBRICATION GROOVES IN I.D. & O.D OF RACE

FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: COM12T
(UNITS WITH PTFE LINERS HAVE NO

LUBRICATION HOLES OR GROOVES IN RACE.)

BALL

52100 STEEL
Rc 56 MIN HARD
HARD CHROME PLATED

RACE

LOW CARBON STEEL
OIL COATED

LINER (OPTIONAL)

PTFE FABRIC




METRIC COM-M

COMMERCIAL SERIES METRIC SPHERICAL BEARINGS / PTFE LINERS AVAILABLE

WN-NOD

SONIYVY3]E TVOIY3IHdS JIYL3IN SIIYIS TVIOHIWINOD

D w BALL F & ULT.
BEARING DIA WIDTH WIDTH . DIA CHAMFER IS STATIC ~ APPROX.
PART ANGLE INDIVND WEIGHT
NO. LOAD )
(NEWTONS)
COMS5M 5 13 8 6 77 11.10 38 13 15,000 006
COM6M 6 16 9 6.75 8.9 12.70 56 13 19,300 010
COMSM 8 19 12 9 103 | 1588 81 14 32,000 018
COM10M 10 2 14 10.5 129 | 19.05 81 13 45,000 027
COMI2M 12 26 16 12 154 | 2223 81 13 60,000 043
COM14M 14 28 19 13.5 16.8 | 25.40 81 16 76,500 055
COMI16M 16 32 21 15 193 | 2858 81 15 96,500 08 g
COMI18M 18 35 23 16.5 218 | 31.75 81 15 118,000 10 m
COM20M 20 40 25 18 243 | 3493 81 14 140,000 15 5'
COM22M 2 42 28 20 258 | 38.10 1.1 15 170,000 18 -—
COM25M 25 47 31 2 295 | 4285 1.1 15 212,000 24 o
COM30M 30 55 34.925 25 348 | 47.62 1.1 17 285,000 38

NOTES:

52100 STEEL
Re 56 MIN HARD LUBRICATION GROOVES IN L.D. & O.D OF RACE
HARD CHROME PLATED
FOR PTEE LINER, ADD “T” TO SUFFIX.
LOW CARBON STEEL EXAMPLE: COM12MT
OIL COATED (UNITS WITH PTFE LINERS HAVE NO

LINER (OPTIONAL) LUBRICATION HOLES OR GROOVES IN RACE.)
PTFE FABRIC




FKS / FKS-T

HEAVY DUTY PRECISION SERIES SPHERICAL BEARINGS, ALLOY STEEL / PTFE LINERS AVAILABLE

-

w

w

._

(/5]

>

(o]

-

-

<

)

O

z

o

<

w

@

—' a&‘

g B D W T o) F IS ULT.

= BEARING DIA WIDTH WIDTH DIA. DIA CHAMFER STATIC  APPROX.

T PART ANGLE = RADIAL  WEIGHT

T NO. LOAD (Ibs.)

& (Ibs.)

@ FKS3 .1900 5625 281 218 293 406 015 11 6,480 014

o FKS4 2500 6562 343 250 364 500 022 13.5 10,000 022

; FKS5 3125 7500 375 281 419 562 032 12 13,900 065
-9 FKS6 3750 8125 406 312 516 656 032 10 18,000 038

N
U.) 5 FKS7 4375 9062 437 343 530 687 032 8 22,300 047
e - FKSS 5000 | 1.0000 500 390 1600 781 032 95 26,900 065
TH & FKS9 5625 | 1.0937 562 437 671 875 032 9.5 36,000 086
= FKS10 6250 | 1.1875 625 500 739 968 032 8.5 48,000 110
U)S FKS12 7500 | 1.4375 750 593 920 | 1.187 044 9 78,000 204
Y FKS14 8750 | 1.5625 875 703 980 | 1312 044 95 103,000 263

w
WL T FKS16 1.0000 | 1.7500 | 1.000 797 1118 | 1500 044 10 125,000 386

52100 STEEL
LUBRICATION GROOVES IN 1.D. & 0.D OF RACE HEAT TREATED

HARD CHROME PLATED
FOR PTFE LINER, ADD “T” TO SUFFIX.
EXAMPLE: FKS10T
(UNITS WITH PTFE LINERS HAVE NO ﬁg{;‘;‘; EEE‘%;D
LUBRICATION HOLES OR GROOVES IN RACE.) OIL COATED

LINER (OPTIONAL)
PTFE FABRIC




FKSSX-T /| FKSSX-TV /| PFKSSX-T

PRECISION SERIES SPHERICAL BEARINGS, PTFE LINED

a°

LOAD RATINGS (1bs.)

EEQ?IIEIS D]?A DIA WIDTH WIDTH DIA. DIA MIS APPROX.
: : * ANGLE STATICLIMIT  OSCILLATING  WEIGHT
wn [sove. IR R I w "
FKSSX3T | FKSSX3TV | .1900 | 5625 | 281 218 | 203 | 500 [ 406 11 3,975 150 1,500 020
FKSSX4T | FKSSX4TV | 2500 | 6562 | 343 250 | 364 | 594 [ 500 | 135 6,040 | 430 3,320 020
FKSSXST | FKSSXSTV | 3125 | 7500 | 375 281 | 419 | 650 | 562 12 8,750 700 5,460 030
FKSSX6T | FKSSX6TV | 3750 | .8125 | .406 312 | 516 | 712 | 656 10 10,540 | 1,100 6,600 040
FKSSX7T | FKSSX7TV | 4375 | 9062 | 437 343 | 530 | 806 | .687 95 13200 | 1.400 8,050 050
FKSSXST | FKSSXSTV | .5000 | 1.0000 | 500 390 | .00 | 876 [ 781 95 17,900 | 2,100 10,400 070
FKSSX9T | FKSSXoTV | 5625 | 1.0937 | 562 437 |11 | 970 | 875 9.5 23200 | 3.680 13,000 090
FKSSX10T | FKSSX10TV | 6250 | 1.1875 | .625 500 | 739 | 1.063 | 968 8.5 30,500 | 4.720 16450 120
FKSSX12T | FKSSX12TV | 7500 | 1.4375 | 750 593 | 920 | 1313 [ 1.187 9 46,400 | 6.750 23,600 210
FKSSX14T | FKSSX14TV | 8750 | 1.5625 | 875 703 | 980 | 1438 | 1312 | 95 62,200 | 9.350 30,250 270
FKSSX16T | FKSSX16TV [ 1.0000 | 1.7500 | 1.000 | 797 | 1.118 | 1.626 | 1.500 10 82,200 | 12,160 38,000 390
NOTES:
DIAMETER “B” AND “D” ARE CONCENTRIC WITHIN .005 T.I.R.

LINER (STANDARD)

FKSSX-T PEKSSX-T
440 STAINLESS STEEL 52100 STEEL
HEAT TREATED HEAT TREATED
HARD CHROME PLATED

17-4 PH
STAINLESS STEEL
HEAT TREATED

PTFE FABRIC

STAKING GROOVE DATA
S R P
BORE LAND RAD. DEPTH
SIZES
3&4 010 | .010 | .025
5 020 | .010 | .035
6&7 020 | 015 | .035
8thrulé | .020 | .015 | .055

NO LOAD BREAKAWAY TORQUE

BORE SIZES TORQUE
3&4 25t05.0

5 thru 12 1.0t0 5.0
14 & 16 2.01t08.0

Q3aNIT 341d ‘SONIYVY3IE TVOIYIHdS SAIY¥IS NOISIOTYd

L1-XSSHAd / AL-XSSHd /| 1-XSSHM4




WSSX-T / WSSX-TV

WIDE SERIES SPHERICAL BEARINGS, PTFE LINED

" EIFE LHES
L3 1= e b o
FAL D

BEARING B D W T O BALL a° LOAD RATINGS (1bs.)

m PART NO. DIA DIA WIDTH WIDTH SHO];&DER DIA. AIII%SLE STATIC LIMIT DYNAMIC  APPROX.

% +0000 [ +.0000 [ +.000 [ +.005 | RADIAL OSCILLOL:gING WELE?T

E FEAIN SSRSEE 0005 | -.0005 | 002 | -005 : : : (Ibs.) (Ibs.)

By | wssxaT WSSX3TV | .1900 [ .6250 | .437 327 301 531 15 2,500 | 1,770 4,900 031
A | wssxar WSSX4TV | 2500 [ .6250 | .437 327 301 531 15 5,500 | 1,770 4,900 031
|T 5 WSSX5T WSSX5TV | 3125 | 6875 | .437 317 360 593 14 9,400 | 1,640 6,050 035
pon] | WssxeT WSSX6TV | 3750 | .8125 | .500 406 466 687 8 13,700 | 2,630 8,310 .060
(7)) E WSSX7T WSSXTTV | 4375 | 9375 | .562 A42 537 781 10 20,700 | 3,650 11,750 .080
(/2] iy | WSsxsT WSSX8TV | .5000 [ 1.0000 [ .625 505 607 875 9 21,400 | 4,970 14,950 .100
; E WSSX9T WSSX9TV | 5625 | 1.1250 [ .687 536 721 1.000 10 26,600 | 5370 18,100 135
] | WSSXI0T | WSSXI0TV | 6250 [ 11875 | 750 567 747 1.062 12 29,000 | 6,130 20,250 160
'T g WSSXI2T | WSSX12TV | 7500 | 13750 | .875 630 845 1.250 13 37,000 | 7,730 26,200 240
x DE: WSSX14T | WSSX14TV | 8750 | 1.6250 | .875 755 1.061 1.375 6 65,200 | 10,800 33,600 350
(7p) | WSSXI6T | WSSXIGTV [ 1000021250 | 1.375 | 1005 1.269 1.875 12 104,000 | 19,300 56,250 970
(dp I | WssX24T#+ [ WSSX24TV** | 1.5000 | 2.9170 | 1.962 | 1.500 1.927 2.750 11 281,531 | 43,180 112,527 2.250
=4 NOTES:

DIAMETER “B” AND “D” ARE CONCENTRIC WITHIN .005 T.L.R.
**WSSX24T - “B” TOLERANCE IS +.0015 /-.0005 & “W” TOLERANCE IS +.000 / -.005

LINER (STANDARD)

440 STAINLESS STEEL | 17-4 PH STAINLESS STEEL

HEAT TREATED HEAT TREATED PTFE FABRIC

STAKING GROOVE DATA
NO LOAD BREAKAWAY TORQUE . 8 L 1
BORE LAND GROOVE RAD. DEPTH
BORE SIZES TORQUE
3 .5t0 5.0 1in. lbs.
4 thru 12 1.0t0 5.0in. lbs. 3thru5 | .020 045 015 [ 030
14 thru 24 2.0to 8.0 in. Ibs. 6thru 10 | .030 055 020 | .040

12 thru 24 .030 .080 .020 .060




|
|

%

D

IN-P

PRECISION PLASTIC RACE SERIES SPHERICAL BEARINGS, LIGHT DUTY

II,H—F:I.H"

vy
Q

ALNA LHOIT ‘SONIYVY3IE TVOI¥IHAS SIIYIS OV J1LSV1d NOISIOTFHd

B D W T O  BALL F N'IIIS ULT.
BEARING DIA DIA  WIDTH WIDTH . DIA CHAMFER STATIC  APPROX.
PART ANGLE = RADIAL  WEIGHT
NO. LOAD (Ibs.)
(Ibs.)
IN3P .1900 5000 312 250 307 437 020 13 939 010
IN4P 2500 5781 375 281 331 500 025 16 1,734 014
INSP 3125 7031 437 344 447 625 025 14 2,236 024
INGP 3750 8125 500 406 516 718 1030 12 3,209 036
IN7P 4375 9375 562 437 587 812 030 14 3,395 050
INSP 5000 | 1.0625 625 500 699 937 030 12 5,360 074
IN10P 6250 | 1.2500 750 562 839 1.125 030 16 5,920 122
IN12P 7500 | 1.4375 875 687 978 | 1312 035 14 9,240 188

LOW CARBON STEEL PTFE LUBRIACTED
CASE HARDENED FIBER REINFORCED
ZINC PLATED ENGINEERING PLASTIC




GEZ-ES

INCH - SPHERICAL PLAIN BEARINGS WITH SINGLE FRACTURED RACE

= —

T
wmm—é S
2

J ]

a°

w
Q
<
o
=)
w
4
>
-
Q
<
[
w
w
0
2 EEQTRES CNIIFFR MIS  STATIC  APPROX.
® : : : : ANGLE RADIAL ~ WEIGHT
T LOAD (Ibs.)
lé OPEN SEALED REF. (Ibs.)
"8 | GEZSES | GEZSES-2RS | 5000 | 4995 | .8750 | .8745 | 437 | 432 | 375 | 365 [ 555 | .024 6 9,217 049
A [ GEZ10Es | GEZI0ES 2RS | 6250 | 6245 | 10625 | 10620 | 547 | 542 | 469 | 459 | 720 | 024 6 14,635 079
8l | GEZI2ES | GEZI2ES-2RS | .7500 | 7495 | 1.2500 [ 1.2495 [ .656 | .651 | 562 | .552 | .858 | .024 6 21,356 117
mfl | GEZ14Es | GEz14ES-2Rs | 8750 | 8745 | 14375 | 14370 | 765 | 760 | 656 | .646 | 1.000 | .024 6 28,550 187
z4 | GEZIGES | GEZIGES-2RS | 1.0000 | .9995 | 1.6250 | 1.6245 | .875 | .870 | 750 | .740 [ 1.087 | .024 6 37,317 267
é GEZ20ES | GEZ20ES-2RS | 1.2500 | 1.2495 [ 2.0000 | 1.9995 [ 1.093 [ 1.088 [ 937 | 925 | 1.417 | .024 6 58,448 512
) | GEZ22ES | GEZ22ES2RS | 13750 | 13745 | 21875 | 2.1870 | 1187 | 1182 | 1031 | 1019 | 1515 | 039 6 69,688 773
0o R | CEZ24ES | GEZ24ES-2RS | 1.5000 | 14995 | 24375 | 24370 | 1312 | 1307 | 1125 | 1113 | 1622 | 039 6 84,300 930
| il | GEz2sEs | GEz2sEs-aRs | 17500 | 17495 [ 2.8125 [ 28120 | 1531 | 1526 | 1312 | 1300 | 1996 | 039 6 114,648 1.413
I
QR | GE732ES | GEZ32ES2RS | 2.0000 | 19995 | 31875 | 3.1869 | 1750 | 1745 | 1.500 [ 1484 | 2.280 | 039 6 150,616 | 2.055
m N | GEZ36ES | GEZ3GES2RS | 2.2500 | 2.2494 | 35625 | 35619 | 1969 | 1963 | 1687 | 1.671 | 2555 | 039 6 191,080 [ 2932
D) 8 | GEZAOES | GEZAOES-2RS | 2.5000 | 24994 | 39375 | 39369 | 2.187 | 2.181 | 1875 | 1859 | 2886 | 039 6 238288 | 4.079
il | GEZ44ES | GEZA4ES-2RS | 2.7500 | 2.7494 | 4.3750 [ 4.3744 | 2.406 | 2.400 | 2.062 | 2.046 | 3.114 | .039 6 281,000 | 5335
GEZASES | GEZ4SES-2RS | 3.0000 | 2.9994 | 4.7500 | 4.7493 | 2.625 | 2.619 | 2250 | 2.230 [ 3.417 | .039 6 337200 | 6.834
GEZ52ES | GEZ52ES-2RS | 3.2500 | 3.2492 [ 5.1250 | 5.1243 | 2.844 [ 2.836 [ 2.437 | 2.417 | 3.720 | .039 6 395,648 8.422
GEZ56ES | GEZS6ES-2RS | 3.5000 | 3.4992 | 55000 [ 5.4993 | 3.062 | 3.054 | 2.625 | 2.605 | 4.000 | .039 6 458,595 | 10.560
GEZ60ES | GEZ60ES-2RS | 3.7500 | 3.7492 | 5.8750 | 5.8743 | 3.281 | 3.273 | 2.812 | 2.792 | 4.280 | .039 6 530,528 | 12743
GEZ64ES | GEZ64ES-2RS | 4.0000 | 3.9992 | 6.2500 [ 6.2490 | 3.500 | 3.492 | 3.000 | 2.980 | 4.559 | .039 6 595720 | 15410
GEZ68ES | GEZ68ES-2RS | 4.2500 | 4.2492 | 6.6250 [ 6.6240 | 3.719 | 3.711 | 3.187 | 3.167 | 4.835 | .039 6 674,400 | 18.541
GEZ72ES | GEZT2ES-2RS | 4.5000 | 4.4992 | 7.0000 [ 6.9990 | 3.937 | 3.929 | 3.375 | 3.355 [ 5.142 | .039 6 764320 | 21.583
GEZT6ES | GEZT6ES-2RS | 4.7500 | 4.7490 | 7.3750 | 7.3738 | 4.156 | 4.148 | 3.562 | 3.542 [ 5417 | .039 6 843,000 | 25.353
GEZ80ES | GEZ80ES-2RS | 5.0000 | 4.9990 | 7.7500 | 7.7488 | 4.375 | 4365 | 3.750 | 3.730 [ 5.720 | .039 6 932,920 | 29.762
GEZ96ES | GEZ96ES-2RS | 6.0000 | 5.9990 | 8.7500 | 8.7488 | 4.750 | 4.740 | 4.125 | 4.105 | 6.622 | .039 5 1,168,960 | 38.581

NOTES:

1. LUBRICATING HOLES AND GROOVES ARE LOCATED
ON INNER AND OUTER RACES.

2. TYPE 2RS HAS SEALS ON BOTH SIDES. ALLOY STEEL ALLOY STEEL, HEAT TREATED
HEAT TREATED SINGLE FRACTURE
PHOSPHATE COATED PHOSPHATE COATED

CHECK AVAILABILILTY ON ALL SIZES
BEFORE ORDERING




METRIC GE-ES

METRIC - SPHERICAL PLAIN BEARINGS WITH SINGLE FRACTURED RACE

-
-—D— T
o o
AL
/

=
]
_|
2
o
)
(7))
a)
I
m
2
(@]
>
[
")
>
a° ULT.
BEARING T F =
MIS STATIC APPROX. | Z
PART NO. . . WIDTH DIA. CMFR oo  RADIAL  WEIGHT =
LOAD (kg) g
SEALED 2
GEI2E 12.000 | 11.992 | 22.000 | 21.991 | 10.00 | 988 | 7.00 | 6.76 | 15 0.3 11 54 016 %
GEI5ES | GEISES-2RS | 15.000 | 14.992 | 26.000 | 25.991 | 12.00 | 11.88 | 9.00 | 8.76 | 18 0.3 8 85 025 7]
GEI7ES | GEI7ES-2RS | 17.000 | 16.992 | 30.000 | 29.991 | 14.00 | 13.88 | 10.00 | 9.76 | 20 0.3 10 106 041 g
GE20ES | GE20ES-2RS | 20.000 | 19.990 | 35.000 | 34.989 | 16.00 | 15.88 | 12.00 | 11.76 | 24 0.3 9 146 061 I
(7]
GE25ES | GE25ES-2RS | 25.000 | 24.990 | 42.000 | 41.989 | 20.00 | 19.88 | 16.00 | 1576 | 29 0.6 7 240 11 >
GE30ES | GE30ES-2RS | 30.000 | 29.990 | 47.000 | 46.989 | 22.00 | 21.88 | 18.00 | 17.76 | 34 0.6 6 310 14 Q
GE35ES | GE35ES-2RS | 35.000 | 34.988 | 55.000 | 54.987 | 25.00 | 24.88 | 20.00 | 19.70 | 39 1.0 6 400 22 2
GE40ES | GE40ES-2RS | 40.000 | 39.988 | 62.000 | 61.987 | 28.00 | 27.88 | 22.00 | 21.70 | 45 1.0 7 500 30 §
GE45ES | GE45ES-2RS | 45.000 | 44.988 | 68.000 | 67.987 | 32.00 | 31.88 | 25.00 | 24.70 | 50 1.0 7 640 40 9 E
GES0ES | GES0ES-2RS | 50.000 | 49.988 | 75.000 | 74.987 | 35.00 | 34.88 | 28.00 | 27.70 | 55 1.0 6 780 54 % |||
GEGOES | GEGOES-2RS | 60.000 | 59.985 | 90.000 | 89.985 | 44.00 | 43.85 | 36.00 | 35.60 | 66 1.0 6 1,220 1.00 g ‘l
GE70ES | GE70ES-2RS | 70.000 | 69.985 | 105.000 | 104.985 | 49.00 | 48.85 | 40.00 | 39.60 | 77 1.0 6 1,560 1.50 § :U
GESOES | GESOES-2RS | 80.000 | 79.985 | 120.000 | 119.985 | 55.00 | 54.85 | 45.00 | 44.60 | 88 1.0 6 2,000 2.20 % 0
GE90ES | GE90ES-2RS | 90.000 | 89.980 | 130.000 | 129.982 | 60.00 | 59.80 | 50.00 | 49.50 | 98 1.0 5 2,450 270
GEI00ES | GE100ES-2RS | 100.000 | 99.980 | 150.000 | 149.982 | 70.00 | 69.80 | 55.00 | 54.50 | 109 1.0 7 3,050 4.30
GE110ES | GE110ES-2RS | 110.000 | 109.980 | 160.000 | 159.975 | 70.00 | 69.80 | 55.00 | 54.50 | 120 1.0 6 3,250 470
GEI20ES | GE120ES-2RS | 120.000 | 119.980 | 180.000 | 179.975 | 85.00 | 84.80 | 70.00 | 69.50 | 130 1.0 6 4,750 8.00
GEI140ES | GE140ES-2RS | 140.000 | 139.975 | 210.000 | 209.970 | 90.00 | 89.75 | 70.00 | 69.40 | 150 1.0 7 5,400 11.00
GEI60ES | GE160ES-2RS | 160.000 | 159.975 | 230.000 | 229.970 | 105.00 | 104.75 | 80.00 | 79.40 | 170 1.0 8 6,800 14.00

NOTES:

1. LUBRICATING HOLES AND GROOVES ARE LOCATED
ON INNER AND OUTER RACES.

2. TYPE 2RS HAS SEALS ON BOTH SIDES.

ALLOY STEEL ALLOY STEEL, HEAT TREATED
HEAT TREATED SINGLE FRACTURE
CHECK AVAILABILILTY ON ALL SIZES PHOSPHATE COATED PHOSPHATE COATED

BEFORE ORDERING




AIN

HEAVY DUTY PRECISION SPHERICAL BEARINGS, ALLOY STEEL / PTFE LINERS AVAILABLE

RACE

ALLOY STEEL
HEAT TREATED
OIL COATED

BALL

52100 STEEL
Rc 56 MIN. HARD
HARD CHROME PLATED

AIN/ CP

CP

BEARING CUPS FOR SPHERICAL BEARINGS

PART NO. B

D

FOR P.T.F.E. LINER, ADD “T” TO SUFFIX. EXAMPLE: AIN3T

BEARING CUPS WILL FIT THE FOLLOWING PART NUMBERS

SNAP RING PART NO.

-

w

=

f D w T o) F N?IS ULT.

o) BEARING DIA WIDTH WIDTH DIA. DIA CHAMFER STATIC  APPROX.
3 PART ANGLE  RADIAL  WEIGHT
< NO. +.0015 | +.0000 +.005 +.005 LOAD (Ibs.)
8’ -.0005 -.0007 -.005 -.005 (Ibs.)

> AIN3 .1900 5312 312 250 307 437 020 10.5 6,550 016
E AIN4 2500 6094 375 281 331 500 020 14.5 8,427 023
& AINS 3125 7500 437 344 448 625 1020 11.0 12,912 039
= AING 3750 8437 500 406 516 719 020 95 17,512 059
g AIN7 4375 | 1.0000 562 437 587 812 020 11.0 21,290 079
w AINS 5000 | 1.0937 625 500 699 937 020 95 28,110 110
e AIN10 6250 | 13125 750 562 839 1.125 030 12.0 37,930 165
g AINI2 7500 | 1.5000 875 687 978 1312 030 10.0 48,675 252
7 AIN14 8750 | 1.5000 875 687 978 1312 030 6.0 48,675 248
H AIN14T-770 8750 | 1.6250 875 750 1061 | 1.375 035 6.0 58,650 350
= AINI6 1.0000 | 2.1250 | 1.375 1.000 1275 | 1.875 060 15.0 90,000 788
> -

el NOTES:

=)

o

>

S

x

w

T

CP8 1.0000 750 | 1.250 | COMS, FKS8, FKSSX8T SR8
CP10 1.1875 875 | 1.500 | COM10, FKS10, FKSSX10T SR10
CP12 1.4375 | 1.000 | 1.750 | COM12, FKS12, FKSSXI12T SR12

CPW12 1.3750 | 1.000 | 1.750 | WSSXI12T SRW12
CPW14 1..6250 | 1.250 | 2.000 | AIN14T-770, WSSX14T SRW14
CPW16 2.1250 | 1.500 | 2.625 | AIN16, WSSX16T SRW16
CPW16-1 | 2.1250 | 2.500 | 2.625 | AIN16, WSSX16T SRW16
CP20 2.375 | 1.500 | 2.875 | COMH20 SR20
CP24 2.750 | 1.625 | 3.500 | COMH24 SR24

PRECISION MANUFACTURED FROM 4130 ALLOY STEEL AND ARE COMPLETE WITH SNAP RING RETAINER.

FABRICATION OF PARTS USING THESE CUPS SHOULD BE PERFORMED BY A QUALIFIED WELDER.
CUPS COME STANDARD WITH A SNAP RING. REPLACEMENT SNAP RINGS ARE AVAILABLE.




SPECIAL SIZED ROD ENDS

2-PIECE, METAL TO METAL, SPECIAL BORE SIZES / PTFE LINERS AVAILABLE

LI ON
A —— FITTING

{OPTIONAL)

S N

* CONSULT F.K. ENGINEERING DEPARTMENT

(¢))]
O
O
—
(d))]
MALE ROD ENDS ULT N
D A/ T BALL :

LEFT DIA WIDTH WIDTH DIA STATIC ~  APPROX. m
RIGHT AR RADIAL = WEIGHT w)

HAND LOAD (Ibs.)

PART

PART NO. +.0025 | +.010 | +.005 REF. _ (Ibs) p )
NO. -0005 | -.010 | -.005 3a (@)
CM4-3 CMLA4-3 1900 | .750 375 250 500 | 1.562 1/4-28 1.000 2,225 042 (w)
CM5-4 CML5-4 2500 | 875 437 312 625 | 1.875 | 5/16-24 | 1.250 3,600 074 m
CM6-5 CML6-5 3125 | 1.000 .500 359 719 | 1.938 3/8-24 1.250 5,100 .108 2
HCM6 HCML6 3750 | 1.000 750 359 719 | 1.938 3/8-24 1.250 5,100 110 w)
CM8-6 CML3-6 3750 | 1312 625 453 937 | 2438 1/2-20 1.500 8,386 246 (0))
—
HCM8 HCMLS 5000 | 1312 | 1.156 453 937 | 2438 1/2-20 1.500 8,386 256 o
CM10-8 | CML10-8 | .5000 | 1.500 750 484 1.125 | 2625 | 5/8-18 1.625 9,813 380 >
CMI12-8 | CMLI12-8 | .5000 | 1.750 875 593 1312 | 2.875 3/4-16 1.750 14,290 626 ~
CMI12-10 | cML12-10 | .6250 | 1.750 875 593 1312 | 2875 3/4-16 1.750 14,290 596 r
CM10-12Z | CML10-12Z | .6250 | 1.750 875 593 1312 | 2.875 | 5/8-18 1.750 * 532 8
HCM12 HCMLI12 | .7500 | 1.750 | 1.125 593 1312 | 2875 3/4-16 1.750 14,290 582 =
CM12-757 | CML12-757 | 7570 | 1.750 875 593 1312 | 2.875 | 3/4-16 1.750 14,290 560 5
(d)]

B

BALL JOINTS, SWAGED CONSTRUCTION WITH DIRT SHIELD

— 3B -
BALL STUD \gcomcm_?
LOW CARBON STEEL — §
LOW CARBON STEEL HEAT TREATED
DICHlfg\IAS:TLI? ggATED ZINC PLATED THREAD
DICHROMATE TREATED I"-I:— : c
Ie i
1" = I \\I\?-UEBEH
| ] SHIELD
PART N TENSILE & FORCE TO
NUMBER THREAD B M FLAT SHEAR STRENGTH REMOVE STUD

(Ibs.) (Ibs.)
B3 10-32 438 438 | 375 | 313 875 438 1.063 | .218 312 300 500
B4 1/4-28 469 563 | 438 | 375 969 500 | 1.219 | 281 375 850 837
B5 5/16-24 531 .688 | .500 | 438 | 1.125 | .563 1.406 | .281 438 1,500 1,000
B6 3/8-24 .688 875 | .625 | 500 | 1.375 | 750 | 1.688 | .313 .500 2,400 1,512
B7 7/16-20 875 | 1.125 | 750 | .625 | 1.938 | 1.000 | 2.375 | .375 .625 2,700 2,173
B8 1/2-20 875 | 1.125 | 750 | .625 | 1.938 | 1.000 | 2.375 | .375 .625 2,700 2,400
B10 5/8-18 1.000 | 1.125 | .875 | .750 | 2.063 | 1.000 | 2.578 | .500 750 2,950 3,150

NOTES:

1. BALL CAVITY IS PRE-LOADED WITH HIGH IMPACT LUBRICANT
2. BALL JOINTS ARE SUPPLIED WITH A DIRT SHIELD FOR PROTECTION AGAINST CONTAMINANTS.




SOLID ROD ENDS

1-PIECE, METAL TO METAL

)
@
> LOW CARBON STEEL
3 ZINC PLATED
A C N ULT.
~ DIA. WIDTH LENGTH LENGTH THREAD  STATIC
MALE
RADIAL
FARTNO. . +0025 | +.010 [ +005 +015 +.062 UNF LOAD
(/p) ' -0005 | -010 | -.005 -015 -031 3a
(Ibs.)
o RDI 58X 5/8 | 6250 | 1500 | .750 2.625 1.625 5/8-18 16,600
5 RD2 5/8X3/4 | 6250 | 1750 | .875 2.875 1.750 3/4-16 18,500
RD3 3/4X3/4 [ 7500 | 1750 | 875 2.875 1.750 3/4-16 18,500
(@] RD4 12X1/2 | .5000 | 1312 | .625 2.437 1.500 1/2-20 12,100
@) RD5 12X3/4 [ 5000 | 1750 | .875 2.875 1.750 3/4-16 18,500
(1 4 RDS 12X 3/4 | .5000 | 1500 | .750 2.625 1.625 3/4-16 18,500
-—"—
=3 [ CLEVIS
8 7/16-14 LOCK NUT

7/16-14 BOLT

\—‘2 - REDUCER BUSHINGS

___—cw

——2 - 1/2-20 JAM NUTS

A T -
ﬁ/ CV8-ASM
C
] | — LOW CARBON STEEL
ZINC PLATED
CHROMATE TREATED

BORE & D T A C N N
THREAD DIA. DIA. WIDTH LENGTH LENGTH SLOT THREAD

PART NO.

REF. +.0025 +.010 +.005 +.015 +.062 +.005 UNF
-.0005 -.010 -.005 -015 -.031 -.005 3a

CV1 3/8 X 5/8 .3750 1.125 .825 3.375 2.000 375 5/8-18
Cv2 1/2 X 5/8 .5000 1.125 .825 3.375 2.000 375 5/8-18
CV3 3/8 X 3/4 .3750 1.125 .825 3.375 2.000 375 3/4-16
Cv4 1/2 X 3/4 .5000 1.125 .825 3.375 2.000 375 3/4-16
CVs 3/8 X 172 .3750 .875 .655 3.012 1.700 .250 1/2-20
CV8 9/16 X 1/2 | .5625 1.125 875 5.563 3.900 250 1/2-20




HB

HIGH MISALIGNMENT BUSHINGS

| 17-4PH STAINLESS STEEL | E

i
Q
I
=
(72
c =
N I N =
4
7 T 7
m
' z
-
v}
&
PART
I
NUMBER B c D BEARING SIZE =
8-6HB 3750 645 627 o
10-8HB 5000 840 900
10-8HB-2 5000 840 1.620 1.250 795 624 10
12-8HB 5000 995 900 475 930 749 12
12-10HB 6250 995 900 475 930 749 12
14-8HB 5000 1.040 1.055 625 1.035 874 RSMX 14T
14-10HB 6250 1.050 1.055 625 1.035 874 IMX14T-770
14-12HB 7500 1.050 1242 812 1.035 874 KMX14
16-10HB 6250 1.245 1.497 817 1225 999 16
16-10HB-2 6250 1135 1370 690 1.225 999 16
16-12HB 7500 1135 1.370 690 1.225 999 16

NOTES:

1. ALL DIMENSIONS ARE IN INCHES.

2. MISALIGNMENT BUSHINGS INCREASE MISALIGNMENT ANGLE AND
REDUCE HOLE SIZES IN ROD ENDS AND SPHERICAL BEARINGS.

3. ALL BUSHINGS ARE SOLD IN PAIRS.

4. MISALIGNMENT BUSHINGS DO NOT FIT SJIM & PMX SERIES ROD
ENDS.

ADJUSTER LADDER

1.000 * 00
LOW CARBON STEEL
ZINC PLATED
CHROMATE TREATED
4,135 204

™., 162558

;LﬁELH UNF 34

| PART NO: ADJUSTERLADDER




JAM NUTS

STEEL & ALUMINUM JAM NUTS IN INCH & METRIC SIZES

n
w
N
n
o
©
M| | INCH STEEL JAM NUTS
=
3 INCH ALUMINUM JAM NUTS
- SIZE
O
S UNF-2B
z SINRO3 SINLO3 10-32 3/8 160 UNF2B
o SINRO4 SINLO4 1/4-28 16 160
e AJNRO3 AINLO3 10-32 3/8 160
2 SINROS SINLOS | s/16:24 12 187 N NN VT G eo
= SINRO6 SINLOG 3/8-24 9/16 225 AINROS NLos | siieoa . 87
N S SINRO7 SINLO7 | 71620 | 11/16 250 AN AT S o6 5
= .
-2 SINRO8 SINLO8 1/2-20 34 312 AINRO7 AINLO7 | 771620 | 1116 250
< SINR10 SINL10 5818 | 15716 375
- AJNROS AJNLOS 1/2-20 3/4 312
o SINR12 SINL12 3/4-16 | 13/32 425 AINRI0-1 | AINL1O-1 | 5818 | 15116 375
p— d SINRI2-1 | siNLi12-1 | 3m-16 | 1516 375 NRI NLL2 ate | 135 s
< tu SINR14* siNL14* | 7814 | 114 500
Do SINR16* SINL16* | 11/4-12 | 158 550 METRIC STEEL JAM NUTS
SINRI6-1* | SINLI6-1% | 1-14 13/8 550
SINR16-2* | SINL16-2% | 1-12 13/8 550
* HEX SIZE MAY VARY DEPENDING ON AVAILABILITY OF MATERIAL 6H
SINRSM SINLsM | Ms5xo08 | 38 160
SINR6M SINL6M | M6x1.0 | 7716 160
SINRSM SINLSM | M8x125 [ 12 187
SINRIOM | sINLioM | mMi0x 15 [ 9716 225
NOTES: SINRI2M | SINLI2M |[M12x 175 | 11716 | 250
1. JAM NUTS ARE SOLD IN LOTS OF 25 PCS. SIZE UP TO 12 SINR14M SINL14M | M14 X 2.0 3/4 312
2.JAM NUTS ARE SOLD IN LOTS OF 10 PCS. SIZES 14-16
SINRI6M | siNLieM | miex20 | 1516 | 375
SINRISM | siNLisM | misx 15 | 1332 | 425
SINR20M | SINL20M | m2ox 15 [ 1332 425

CTR

CENTER FINDERS

CENTER FINDERS ARE USED TO FIND THE LENGTH BETWEEN
TWO CONNECTING RODS FOR EASE OF ASSEMBLY PART  BEARING i

NUMBER SIZE

* CTRS 8 500

B CTRI10 10 625

CTR12 12 750

7 ‘ CTR14 14 875

N\ NOTES: CTRI16 16 1.000
\ = 1. CENTER FINDERS ARE SOLD IN PAIRS

2. TO PURCHASE A COMPLETE PAIR OF EACH SIZE USE PART NUMBER CTR1




RERS SERIES BOOTS

TOTALLY ENCLOSE & PROTECT YOUR ROD ENDS FROM DIRT & MOISTURE

These “boots” completely enclose the head portion of
the rod end and are held in place by the mounting bolt.

The job of the boot is to completely protect the rod end
from all types of contamination. In severe duty, inspect
regularly for any openings that would allow dirt and
water to enter.

Standard package contains size boots.

INCH SIZE ROD ENDS METRIC SIZE ROD ENDS
RERS1 3/16”, 1/47,5/16” | 3/16”, 1/4”, 5/16” 6mm, 8mm 6mm, 8mm
RERS2 3/8”,7/16” 3/87,7/16” 10mm, 12mm 10mm, 12mm
RERS3 1/27,5/8”, 3/4” 1/27,5/8”, 3/14” 14mm, 16mm, 18mm 14mm, 16mm, 18mm
RERS4 7187, 17 7187, 17 20mm, 22mm, 25mm 20mm, 22mm, 25mm
RERSS 11/4” 11/4” 30mm, 35mm 30mm, 35mm

WS SERIES SEALS

ECONOMICAL PROTECTION FOR YOUR ROD END

—n—|

st ="

Designed to fit over the exposed portion of the rod end ball to protect against dirt and moisture.
Standard package contains six individual seals, enough for three rod ends. Order by rod end size.

SV3S S31Y3S SM / S1009 S31-3S SH3Y

STANDARD SIZES METRIC SIZES

ROD END

ROD PART

NSQIETER 511\;1]35 NUMBER  SIZE A

WSsMM | sMM | 525 | 828 | 1122 | 241 | 05
WS1875 3 [0187] 02 | 0326 0442 [0.095 |o0.02 st T ot o 1o T o0 o0 oo
ws2500 | 4 | 025 | 026 | 0375 |05 o012 |[0027 weed T st 1525 Tias Tioos 1 sos 1 10
WS3125 5 | 031210322 § 0487 J0.7 02 ]0.047 WSIOMM | 1oMM | 1025 | 1346 | 2032 | 550 | 12
ws3750 | 6 | 0375|0385 | 053 |08 [022 0047 st T vt T1o2s Tissa s Teas 1 12
WS4375 7 | 0437 | 0448 | 0.626 | 0875 | 025 |0.047 et T it Tiaas Tiess Tose Teas T 1
WS5001 8 | 05 | 051 | 073 |1.125 [025 |o0.047 st T 1ot Tieas T os 150 Tes 110
WS6250 | 10 | 0.625 | 0635 | 0.882 | 1235 | 0.267 | 0.047 et T vt 1155 T o0e Toe T T 1
ws7500 | 12 | 075 | 076 | 1.006 | 1381 [0.367 |0.047 vt T 2ot T35 s a1 Tore
wsg750 | 14 | 0875 | 0.885 | 1.125 | 1.89 |0.315 |0.042 oot T oot 12525 Tons 553 10 s
WS10007 | 16 L | 1ov 123 j2u 05 [0.05 WS30MM | 30MM | 3025 | 36 | 55.88 | 1345 1.5

NOTES:

One (1) rod end requires two (2) rod end seals.
Standard packaging is six (6) seals per package.
One pack seals three (3) rod ends.




WELDABLE TUBE ENDS

TUBE SIZE
X WALL  10-32  1/4-28 5/16-24 3/8-24 7/16-20 1/2-20 5/8-18 3/4-16 7/8-14 1-14 11/4-12
THICKNESS
3/8X.058 | 1101
1/2 X .058 1202 | 1203
5/8 X .058 1303 | 1304 | 1305
3/4 X .058 1403 | 1404 | 1405
3/4 X .065 1503 | 1504 | 1505
7/8 X .058 1604 | 1605 | 1606
7/8 X .065 1704 | 1705 | 1706
(7p) 7/8 X .083 1804 | 1805 | 1806
()] 1” X .058 1904 | 1905 | 1906 | 1907
Z 1” X .065 2004 | 2005 | 2006 | 2007
L 1” X .083 2104 | 2105 | 2106 | 2107
g 17 X .095 2204 | 2205 | 2206 | 2207
S 11/8” X .058 2306 | 2307
= 11/8” X .065 2406 | 2407
W 11/8” X .083 2506 | 2507 | 2508
- 11/8” X .095 2606 | 2607 | 2608
(a8)] 11/4” X .095 2707 | 2708
1 11/4” X .120 2807 | 2808
3 13/8” X .095 2907 | 2908
T 13/8” X .120 3007 | 3008
; 1 1/2” X .095 3057 | 3058
11/2” X .120 3108 | 3109
11/2” X 250 3208 | 3209
13/4” X .120 3308 | 3309 | 3310 | 3311
13/4” X .250 3408 | 3409 | 3410
27 X .250 3511
NOTES:

1. FOR LEFT HAND THREAD, ADD “L” TO SUFFIX. EXAMPLE: 1706L

* LEFT HAND THREADED PARTS HAVE A DISTINCTIVE MARK AROUND THE OUTSIDE DIAMETER
2. PART NUMBERS 2908L & 2708L AVAILABLE WITH HEX. ADD “H” TO SUFFIX. EXAMPLE: 2908L-H
3. ALL TUBE ENDS ARE MADE FROM 4130 CHROMEMOLY

TUBE ENDS 2908L-H
) AND 2708L-H SHOWN /

F.K. BEARING makes no warranties, expressed or implied,
as the suitability of our Tube Ends for any application.

Tube Ends must be welded in place by a skilled welder,
using proper welding techniques.



ENGINEERING DATA

m
m
RADIAL LOAD - A LOAD T m
APPLIED NORMAL TO THE Py
APPLIED ALONG THE
BEARING BORE AXIS AND ey sty ins -—
PARALLEL TO THE SHANK : 2
AXIS. G)

STATIC RADIAL LIMIT LOAD - THAT STATIS LOAD REQUIRED TO PRODUCE A SPECIFIED PERMANENT SET IN THE BEARING
STRUCTURE. IT WILL VARY FOR A GIVEN SIZE AS A FUNCTION OF CONFIGURATION. IT MAY ALSO BE PIN LIMITED AS A
FUNCTION OF BODY RESTAINTS AS IN THE CASE OF ROD END BEARINGS.

STATIC RADIAL ULTIMATE LOAD - THAT LOAD THAT CAN BE APPLIED TO A BEARING WITHOUT FRACTURING THE BALL,
RACE OR ROD EYE. THE ULITMATE LOAD RATING IS USUALLY, BUT NOT ALWAY 1.5 TIMES THE LIMIT LOAD.

STATIC AXIAL LIMIT LOAD - THE LOAD THAT CAN BE APPLIED TO A BEARING TO PRODUCE A SPECIFIED PERMANENT SET
IN THE BEARING STRUCTURE.

STATIC AXIAL ULTIMATE LOAD - THAT LOAD THAT CAN BE APPLIED TO A BEARING WITHOUT SEPARATING THE BALL
FROM THE RACE. THE ULTIMATE LOAD RATING IS USUALLY, BUT NOT ALWAYS 1.5 TIMES THE LIMIT LOAD.

ANGLE OF MISALIGNMENT

"-1-_ip

FIGLRE 2 FIGLRE 3 FIGLRE 4
g =s=in' W-sin' H 8, =sin’ W-sin' H a=cos B-sin'H
A A H 14 B H
F[GUHEI; B - Ball Ko
@ = s W ocain H M - Cuter Bece Chesalier
(1] 1] I - Head Diameter or Oimer Race Dinmeter
H - Bell Dismeter
H - Fopsing Width
A - DM FHHE

W - Ball Wickh




ENGINEERING DATA

INCH / METRIC CONVERSION TABLE
MM MM MM MM
FRACT. DEC. FRACT. DEC. FRACT. DEC. FRACT. | DEC.
0.00004 | 0.001 17/64 0.2656 6.746 0.6693 17.0 1.3780 | 350
0.00039 0.01 0.2756 7.0 43/64 0.6719 17.066 14173 | 360
0.0010 0.025 932 02812 | 7.1437 11/16 0.6875 17.4625 112 1.5000 | 38.1
0.0020 0.051 19/64 0.2969 | 7.5406 45/64 0.7031 17.859 1.5354 | 390
0.0030 | 0.0762 5/16 03125 | 7.9375 0.7086 18.0 15748 | 400
0.00394 0.1 0.3150 8.0 23/32 0.7187 18.256 16535 | 420
0.0050 | 0.1270 21/64 0.3281 8.334 47/64 0.7334 18.653 13/4 17500 | 44.45
0.00984 0.25 11/32 0.3437 8.731 0.7480 19.0 17717 | 450
0.0100 0.254 0.3543 9.0 3/4 0.7500 19.05 1.8898 | 48.0
1/64 0.0156 0.396 23/64 0.3594 | 9.1281 49/64 0.7656 19.446 1.9685 | 50.0
1/32 0.0312 0.793 38 0.3750 9.525 25/32 0.7812 19.843 2 2.0000 | 508
0.03937 1.0 25/64 03906 | 9.9219 0.7874 20.0 20472 | 520
< 3/64 0.0469 1.191 0.3937 10.0 51/64 0.7969 20.240 2.1654 | 550
|_ 0.0591 L5 13/32 0.4062 10.318 13/16 0.8125 20.6375 22047 | 56.0
< 1/16 0.0625 1.5875 27/64 0.4219 10.716 0.8268 21.0 21/4 22500 | 57.15
0 5/64 0.0781 1.984 0.4331 11.0 53/64 0.8281 21.034 23622 | 60.0
0.0787 2.0 716 04375 | 11.1125 27/32 0.8437 21.431 2172 25000 | 63.5
0 3132 0.0937 2381 29/64 0.4531 11.509 55/64 0.8594 21.828 25197 | 640
Z 0.0984 25 15/32 0.4687 11.906 0.8661 22.0 23/4 27500 | 69.85
E 0.1000 254 0.4724 12.0 18 0.8750 22225 2.8346 | 720
LLI 7164 0.1094 2778 31/64 0.4844 12.303 57/64 0.8906 22.621 29528 | 75.0
LLI 0.1181 3.0 12 0.5000 12.7 0.9055 23.0 3 3.0000 | 762
z 1/8 0.1250 3.175 0.5118 13.0 29/32 0.9062 23.018 3.1496 | 80.0
= 0.1387 35 33/64 0.5156 13.096 59/64 0.9219 23.416 31/4 3.2500 | 82.55
(9 9/64 0.1406 3.571 17/32 0.5312 13.493 15/16 0.9375 23.8125 312 3.5000 | 889
z 5132 0.1562 3.968 35/64 0.5469 13.891 0.9449 24.0 3.5433 | 90.0
LIJ 0.1575 4.0 0.5512 14.0 61/64 0.9531 24.209 33/4 37500 | 95.25
11/64 0.1719 4.366 916 0.5625 | 14.2875 31/32 0.9687 24.606 3.9370 | 100.0
0.1772 4.5 37/64 0.5781 14.684 0.9843 25.0 4 4.0000 | 1016
3/16 0.1875 | 4.7625 0.5906 15.0 63/64 0.9844 25.003 41/4 4.2500 | 107.95
0.1969 5.0 19732 0.5937 15.081 1 1.0000 25.4 43307 | 110.0 TAP DRILL SIZES FOR INCH THREADS
13/64 0.2031 5.159 39/64 0.6094 | 15478 1.0630 27.0 412 45000 | 1143 SCREW THREAD C?XII)NII)?ISASL
7132 0.2187 5.556 5/8 0.6250 15.875 1.1024 28.0 47244 | 1200
THREAD | ROOT | SIZEOR | DECIMAL
15/64 0.2344 5.953 0.6299 16.0 11811 30.0 43/4 47500 | 120.65 SIZE DIA. | NUMBER | EQUIV.
0.2362 6.0 41/64 0.6406 16.271 11/4 1.2500 3175 5 5.0000 | 127.0 6-32 0.0834 36 0.1065
1/4 0.2500 6.35 21/32 0.6562 16.668 1.2992 33.0 512 5.5000 | 139.7 10-32 0.1469 2 0.1570
TAP DRILL SIZES FOR METRIC THREADS 1428 02056 3 02130
51624 | 0.2584 I 0.2720
INCHES X254 = Millimeters M3 X 0.5 2.50 7/16-20 03726 25/64 0.3906
ISvfll.HIlrI:::e}:lfsr i § 604312?; : ISI:;thntimeters o = 25 ] oo e 00
Sq. Centimeters X .155 = Sq. Inches M6X10 300 12-20 04351 29064 0.4531
Pounds X 4536 = Kilograms M8 X 1.25 6.80 5/8-11 0.5069 17/32 0.5312
Kilograms X 2.2046 = Pounds MIOX 1.5 8.50 5/8-18 0.5528 37/64 0.5781
Lbs. per In2 X .0703 = kg per cm? MI2 X 1.75 10.20 3/4-16 0.6688 11/16 0.6875
kgpercm’ X 142231 =Lbs. perin” M14 X 2.0 12.00 7814 | 07822 | 13716 0.8125
Pounds (Force) x 4.448 = Newtons M16 X 2.0 14.00 1-12 0.8918 59/64 0.9219
Newtons x.2248 = Pounds (Force) MIS X 15 16.50 i 09072 516 09375
Temperature Conversion (Approximate) M20X 1.5 18.50 11412 | 11418 | 11164 11719
Degrees C = (Degrees I -32)(.5356) M22X 15 20.5 11/2-12 13918 127/64 1.4219
Degrees F = (Degrees C)(1.8)+ 32 - .
M24 X 2.0 22.0 13/4-12 | 1.6050 121/32 1.6563
M30X 2.0 28.0 2-12 1.8557 129/32 1.9063

NOTE: This table is to be used as a guide to assist in finding comparable metal designations only. True interchange
can be determined only by comparing chemical composition, mechanical properties, and manufacturing technologies.




/

~

TUTHILL/ | SEALMASTER NMB /
FK BEARINGS | ALINABAL AURORA HEIM/ RBC SUPERIOR | SPHERCO NHBB
CM AM-GP CM M-CR MSM CFM AHM / LSPL
CM-T AM-T-GP VCM MSM-T CEM-T
CM-Y AM-S-GP CM-S M-CRY MSM-S CFM-Y
CM-M CM-M EM-M
CMX/ CMXT CAM / VCAM MAX / MAX-T
M-SB VM-G HM-C MBM ™
NJM PM SPM CMHD NM / SPM CTMD
JM MM / KM HMA MTSM TRE HAMR
JMX RM-X5 AM BHM TSMX ARE HAMRX
JMX-MT AM-MT
EMX HMX ARE-20N
RJMX-T RAM-T NSMX-T
RSM LCRM-1-X5 XM RM AXM
RSMX RM-1-X5 XAM RMX XAMX
HIMX-T HAM-T
HRSMX-T HXAM-T ARYT-ECR
PMX-T PRM-T ART-ES
ALJM /ALJMH ARM-X5 ALM KCA ALRE
ALRSM ARM-1-X5 XALM KCAX XALRE
SCM-T CM-ET SSM-T
SIM-T SM-ET ME SSAM-T ART-ECR
SRSM-T SSHM-T ARHT-ECR
:
CF AF-GP CW F-CR MSF CFF AHF-CSPL
CF-T AFT-T-GP CW-T MSF-T CFF-T
CF-M CW-M EF-M
F-SB VF-G HF-C MBF TF
NJF PF SPW CFHD NF / SPF CTFD
JF CF MW / KW HFA MTSF TR HAFR
JFX AW BHF TSFX AR HAFRX
JEX-MT AW-MT
ALJF ALW
SCF-T CW-ET SSF-T
SJF-T SW-ET SSAF-T ART-CR
| SPHERICAL BEAR
COM COM-E COM COM COM COM CBG
COM-H HCOM BH-LS RSH
HIN-T HAB-T YSSB ABYT
FKS COM-KH LHA SBGS RSH
FKS-T COM-KHT RS-T
FKSSX-T NC-T NE / LHSSE NSSB NRR ABT
FKSSX-TV NC-TG NE-G / LHSSVV NSSB-V NRRG ABT-V
WSSX-T WC-T WE WSSB WRR ABWT
WSSX-TV WC-TG WG WSSB-TV WRRG ABWT
GEZ-ES GEZ-ES GEZ-ES
GE-ES GE-ES GE-ES
AIN AIB
o






